MEX &L LHESG
www.kapanl23.com

MK *x& % W& E@

o2 10 1
13602326355 www.kapanl123.com




NHRRALRZE R ES E-RE2/90°

EEAR

1.NHRRREZLINHRRE N & #HTEIR T S50
2.NHRRREZMRRT —L((BEHFM4 ERLDBTEMISRMIE
EE—EBEEERNBM ETHORZNER
3.NHRRREZEBR /N, EESXSNHR—HESE

KW=T/KWTZTGEDZahlE-R 2

EBAFNEMFBMREFEERTHEMNRIES B ORBNIMZE
HITZ HIDgESR:

1 IHRREFHER, BERE10°R#E, MREASHEMNS, BF
RBORED (MEFR) ;

2B — SRR ORAMERER;

3. REREFIMERERINGER,;

ABESEMEEAIA: 0.03mm.

SPW/SPWT?H%HVE‘HEV.‘EE

113/‘5%%27?11: iR, ERERHIE “?5;«
2 ‘ﬁ%*ﬂ?\]’ﬁﬁﬁ:iﬁ%ﬂi}
EMRKNERSS
3BOHIME

4 EAB-RE

BU=/T/BUT=MEHizt =&

1.BUBHIR = ME&5BUTFRIA ZM-ERR T1ER;

2BUBHRIR RB|EATF NI EEESFITEAERNITH LXRREER
FSEER

SHEERR T REEEK- R 5,

ABESEMNBENXL: 0.02mm.

AR/ AR BEFEEERZEH)

THRELAR
EF#5NHEASEE BTMIR
i, RERERRAIR/NERR, 5
2. B T{FEAE A EH KRS U
3 RERNESREmFXARFELE, NESTALIFET;
4. EAEERIA+0.02mm.

KU/KUT/PU/PUTSIHES BIE R

1AEXERRERHRELAN , 3MA =21, TR $i%HF;
2AEXERRRERTNIHEREMN. EEEMTFTEETERNT
HEEAR T AT ERR-REIRIER;

3 RHER R = MR SKUTREIEREN R — M-RER THEE;
ABESEMEERNA: 0.025mm.

PUERIEN RIS HE R

VIBTHEERS A ERREE, BEEEEEIGebEEER
HIThee;

2 BBIEN T EARNEEEMROENTEEERYOITH
3ESEMREETA: 0.025mm.

BF=JT/BFTZTUERZ U MUbESE <2

1.BFREBREHFERE ARR THNEE#TEE

2 ERATHIMERH BT

3.£#&%5"6"8",10" 5", 18" FX/NRIEFHHH = MFI =/ f#
prici=

MDS/MDLERR &2

1.MPSEAXFRELEHN KR, B3N, 6Malfhis®;

2. BERUERHIMEP.C.DAE AR TIE o LUIN T4 R R iRk E
NMAZRFHRE O EEK;

3 INTARANOEIEE R RS RMHATIETHT;
AEEREINTIN. HE. BEHIL. HERIRRS,

5 S RER SRR, EALMRIEE P AESREH TS IRR0RIT;

6. ESEMFEERIA0.01mm.

BSAHMIF& (HEERRSEMHR )

TR AR ( BREICEREME ) MS:
LERL; QEIETRAERIEMAIELE; @ %E*ﬁ%ﬁ%ﬁlﬂ)bﬁ
19, BRanERIA THREYS ;
T JR 5 A B 2 712 R ﬁiﬁ*”ﬂFlu G%ﬁ%ﬁnﬂé

‘BWA\;:FE"JTLETLD:;&L_%#(?
v DI R OFLER; @ TR ERER
TRARBENIRF RN TLAHE, JEa) BT IRE R
lé FERE R B BRI M 01T 44 H9%A1E
LS NS e oRit 38 S ik -8




st S0 b iR 2 e Xt

NHZ
B35 EARE R 3 )+ /120

< =

A

BSB
mIFa&E

'NHU
BH S ERERH N FE

FBU
AJUSHEEF &

o KUL
%R N TR R i

NHR
B35 BEARER 777+ 2/90°
Q @ e
o @

NHRL
B 35 B 3h 1+ #/180°

NHRS
B %75} BB AL 3 71+ #/90°
-
z )

NHL
12 15 B 3 43 B 3 71+ #/90°

B A KE = 3 Hi At O &

SN P 4 o ot

KL
o 58 A AT A2 = UM [ F &

K-Y
o € i [ [0 % T

__B-U
SRR & il EHUT
"
o
‘f%%ﬁ’

RS ERR

L
MRS REER

-, K-w
JF 3+ il E T

ofl.

. LUE
WX AES.

BH %

i JE A+ £




tl\

S

7r

2E75

HalEFRfAEAR

r
CONSISTING ITEMS

- Rig
£AF, BETEMNMTAHERM 45E605 5 120 B KT 45 4 7=
%, BREABENN TR+ PHsEEL (MU TER) ST

= HANA
1. B EFRASFEMDEZHEE
2. FEMSE2AThAE, LR HE BB
3. FREAF45"H60°H BIL R B, 5 5145°,90°,135°,180°160°,120°,
180° B Zh5Y &
4. HEERH R KAE NS ERFREE
5. XEF& AT EMBIRER B EFENRE5-108

= ERAHE
ELATRES, MTEERS

=
hee
&
4
L
R
=?
1

DBz EERE  Auto Indexing Chuck
QihEREEAM Pipe Bundle Assy
(€)dz2sin Rotary Distributer
@90°4 R FF% 90° Index Sensing S/W
G EEHI BT Hyd.Unit Assy & Control Unit
MR, 5% Oil  Pump,Motor

—EHEE, 13788 Accumulator,Filter

-EhE, @ik Pressure gauge,Sol.Valve

I = Output:1.5kw
-RKEAN Max.Pressure:45kgf/cm’
Jig$ 4y ##Rotary Distributer
AL Cyl. Adaper FiifL Balancing Hole

: HeiE4E Pulley MEATIH Pipe Bundle Assy

— ,’)—'_E LA} Workpiece %
===1 <7 —
o /i "—T N i
2 I il é
Z H I F J} g_p*& ):’ i &7 e FRGET MBS, RTHIET, RIETRIMMEE
R B © . mEHE
‘ = / « FEEHNER AR AT AT A BIRAE, XE S TR Z B RS b
205 30 i i ST B R R BRI, HR AR TR ARG
i Chuk s « BFAERONMERS, FANEIAEE BIRREE, NTHRETEMmR
YHIBBAL Main Spindle Borg 3 - FEEENRERS, AEMRET; 2RATHENM, 2RATRFFE

FAIERAE Chuck Adaptes

RERIAH TS TE, UBILSRIR, KEFHMALKEER
BEEHARCN.CREHSENRSED, EEBIER TEMNGCEMTESH

KEERBO'



tl\

3

7r

2R

IEr Y sa=zsaEmE8/120° | NHU A=E e PRt

120° INDEX TYPE AUTO INDEXING CHUCK HIGH SPEED AUTO INDEXING CHUCK

1E-ERIMRN, ERTF/INOEURZER;
QETEPBELARE, B/GHEDEAHSRIRALS;

3. EMEIER P ER R B RIE8X45°, 4X90°52X 180° 5 ;
AFERFINT+FHEETH, HEREnT.

1 —IRERBEINT2AMNA LT
2 FHH BRI FE D B, AIF6X60° 5 3X120° 5 &
3 EMHIRES S BB FRARHEE RIS

BHHSERERS

7 7
@P &P
TUT
: Et i, S
1 1200 i o
i s ! Me i i
o £ < Q| i Rz
%811 50 8 2 --1—H- $
l‘ 5 XS . 8 - L T T
w 3x120° %4 6x60° %4 f
dLE 1.5_ JLE F
D D
AL = N 2
DIMENSIONS DIMENSIONS
R¥+| oA B ach® D E F oG H J K L M N RY| @A | B geis D E F @G | H J K L M N
(mm) | (mm) (mm) (mm) | (mm) [ (mm) | (mm) [ (mm) | (mm) | (mm) | (mm) | (mm) | (mm) (mm) | (mm)| (mm) | (mm) | (mm) | (mm) | (mm) [ (mm) | (mm) | (mm) | (mm) | (mm) | (mm)
NHZ-185 185 198 150"%® 150 5 32 1048 74 35 4-M10 12 405 375 NHU- 168 168 178 1504002 150 20 5 125 49  — 4-M12 105 52 26
NHZ-210 210 210 170*2‘222 155 5 33 1048 90 — 4-Mi0 15 58 40 NHU- 180 180 190 150°%® 150 20 5 125 49 — 4-M12 12 52 26
¥ 40,
NHZ-230 230 248 170 173 5 35 1048 90 35 6-M10 15 58 40 NHU —228 208 235 185'°9% 49 o5 5 1334 85 85 4-M12 14 76 38.5

NHZ-280 280 295 170°%° 200 6 50 1334 110 55 6-M16 205 67 56
NHZ-300 300 295 170°%° 211 11 565 1334 825 60 6-M16 25 65 56

DIMENSIONS 0 P 1R BEEE EEL i DIMESION N ais o 2 it BSEE ERIL ERE
R R Clamping force GD? Max.speed Main spindle bore Weigt R= Max. Max. Clamping force GD 5 Max.speed Main spindle bore Weigt
(mm) (kgf) (kgf,mz) (r.p.m) (mm) ()] (mm) (mm) (kgf) (kgf.m") (r.p.m) (mm) (kg)
30 800 1.0 3 80 750

NHZ-185

2500 Over 45 19.5 NHU-168 0 0.33 3000 Over 45 19
NHZ-210 30 1000 1.2 2400 Over45 35 NHU-180 30 80 750 0.33 2800 Over 45 25
NHZ-230 30 1270 1.3 2400 Over 45 35 NHU-235 50 90 1250 15 2300 Over 45 44
NHZ-280 40 2170 3.6 2000 Over 45 65
NHZ-300 40 3500 42 1800 Over 55 83

KEERBO



d\

3

7r

2R

LY sasmmesns+g/0° DLV amsminesn-fa/0°

90° INDEX TYPE AUTO INDEXING CHUCK 90° INDEX TYPE AUTO INDEXING CHUCK
—}k%é?éﬁ‘éﬂﬂl%/\lﬁ; —IREERBEINT ZANTNL;
AR S EERREN 2.313%“1%,%**!3%‘}%%&9?55;
3.$$E@$§Eﬁﬁjﬂ€Eiﬂﬁ:‘ﬁé,ﬁﬂfﬁsx%ﬂ 4X90°82X180° 4 & ; 3. AHEIEAT AT EER TN BE, AT/E8X45°, 4X90°82X180° D ;
479+, BATIEEELSE TR TIRE T @R 47914, B EELE TN TR T @

= [
hes hee
& i
4e 4e
i il
R R
= =
111 1

S

205
(250) 7

4-M8
(@-M10)

68
[e110

H
(L
N

i
'
I
$A
[e110
$A

(o135)
4 Pooo.

$80
T#100)

80
9 100)

Al
il

02
6.2 L

7
e
Ve

\s

DIMENSIONS He DIMENSIONS 4 REiEE
$A | B | ¢C $G gl [ Clamplnq force Max.speed Welg‘
Main splndle bore
(mm) [ (mm) (mm) (mm) (mm) | (mm) [ (mm) | (mm) [ (mm) [(mm) |(mm) [ (mm) [ (mm) (mm) (mm) kgf (r.p.m) (kg)
+0.02!

NHR -168 168 125 140" 4-M10 1048 67.5 6.5 NHR -168 45 2500 over 12.5
NHR -200 200 140 150"%° 4-M12 25 5  104.8 83 30 76 13 48 44 NHR -200 30 58 80 1ooo 0.7 2200 over 45 20
NHR -225 225 155 185%° 4.M12 25 5 1334 95 3% 84 14 55 45 NHR -225 30 60 100 1270 0.9 2200 over 45 29
NHR -250 250 190 210" 4-M12 25 5 1334 106 40 113 20 54 46 NHR -250 30 65 160 1730 1.7 2000 over 45 44
NHR -280 280 210 210°°° 4-Mi6 25 5 1714 125 48 125 205 67 57 NHR -280 30 80 220 2550 2.8 1800 over 45 57
NHR -320 320 226 235°%° 4-Mi6 30 5 1714 135 50 13 25 85 70 NHR -320 30 100 230 2550 5 1200 over 55 73
NHR -360 360 240 290°°® 4-M20 30 5 235 150 50 148 23 103 895 NHR -360 30 135 240 2550 8 1200 over 55 105
NHR -400 400 259 290°°®* 4-M20 30 5 235 166 60 161 30 114 100 NHR -400 30 170 260 3530 15 1000 over 55 145
NHR -460 460 279 290°°® 4.M20 30 5 235 196 60 180 30 144 128 NHR -460 30 220 290 3530 20 1000 over 55 155
NHR =500 500 308 380°°°% 4meo,m2 30 7 23532 205 68 200 35 157 133 NHR-500 30 220 310 4670 25.4 800 over 55 230
NHR -580 580 353 380°™" 4-M24 30 7 3302 245 68 232 40 192 172 NHR -580 30 260 350 4670 30 800 over 55 305
NHR -650 650 430 380°® 4-M24 35 10 3302 260 90 280 45 214 186 NHR -650 30 300 380 5090 36 500 over 55 460
NHR -780 780 470 380™°%% 4-M24 40 16 3302 325 95 325 45 245 225 NHR -780 30.60 380 480 6400 38 400 over 55 656
NHR -890 890 540 520°°“ 8-M26 45 16 4636 385 95 385 55 320 300 NHR -890 30.60 420 500 6400 38 400 over 55 830
NHR -1050 1050 655 520°°* g-M26 45 20 4636 450 130 460 65 365 315 NHR -1050 30,60 500 600 6400 38 400 over 55 1540
NHR -1250 1250 780 520°°°“ 8.M26 45 20 4636 540 145 560 86 405 340 NHR -1250 30,60 540 800 6400 38 400 over 55 2200

KEERBO'



tl\

3

7r

2R

| NHRR L33 1:32 =85 71N | NHRS A:=E i SE RS =Rl
CENTER CLAMPING TYPE AUTO INDEXING CHUCK ADDITIONAL ANGLE TYPE AUTO INDEXING CHUCK
1.NHRREZELINHR-EAEAERM, WHT BRI S, 1.NHRS-REAT A4 % 90°4) BERIRRIGIR T 3°,4°, 5 SIB NS B
2.NHRRAE£RIR T —LE((FEma 5, B LS AT EM TSR TRES 2 B —IRERE AT T ANELA L.

— AR B A TS AR, 3.NHRSEREREM, EEARSNHR—HE5E.
3.NHRREBEHRN. EEHSNHR—EESE.

BHSERERS

=
e
2
ye
o
R
=
i

7

85

N | ' . S

(mm) (mm) (mm) (mm) (mm) | (mm) (mm) (mm (mm) (mm) | (mm)
NHRR-200 170 4-Mm12 5 1048 415 DIMENSIONS Ho
= owowe bw D owees s @b I A I I A A R A = P
NHRR-260 260 195 170005 4-M12 5 133.4 53 40 79 8 47 (mm) | (mm) (mm) (mm) | (mm) [ (mm) | (mm) | (mm) (mm) | (mm) | (mm) | (mm)
5
5
5

NHRR-280 280 230 210°%  4-Mi6 1714 60 43 100 8 52 NHRS-360 290°%%  4-M20
NHRR-320 320 245 210 4-M16 171.4 75 43 114 10 66
4-M20 235 75 48 130 10 81

+0.029

NHRR-370 370 255  200"%%

DIMENSIONS TI# i BEEE E2E) =8
r}:Efz ﬁj(‘kE Clampmg force | GD°, | Max.speed | Mainspindle bore | Weigt
DIMENSIONS S 'l’_{ BEEE a7l B (mm) (mm) (mm) (kgf) (kgf.m") (r.p.m) (mm) (kg)
Max. Max Clamplng face 105
(mm) (mm) (mm) (kgf) kgf

M?’r(bsgqe)ed Main spindle bore |  Weigt NHRS-360 2550 8 1200 Over55
NHRR-200 40 1270 2000 Over 45
NHRR-225 30 60 80 1730 0.9 1800 Over 45 34
NHRR-260 30 70 90 1730 1.7 1600 Over 45 51
NHRR-280 30 80 100 2270 2.8 1500 Over 45 70
NHRR-320 30 100 130 3140 5 1200 Over 55 90
NHRR-370 30 130 130 3140 8 1200 Over 55 120

KEERBO'



tl\

3

7r

2R

| NHRP B ral RS -7 | NHRD A=E =0 raa s

3 [
% HIGH CLAMP TYPE AUTO INDEXING CHUCK - THRUST LOAD TYPE AUTO INDEXING CHUCK %
Ht; 1.NHRPEAIER TN TP AP AAHC R T /"5 | NHRD s NHR ) " o 0 ﬁ
P ‘ ‘ PR, :
R 2NHRPHEREEIEHEF X, TIREREEESN. b P N »ﬁgjt REYRT POBMTRE, WIRTIRE \ R
E  3NHRPEREMCRIT. MR SNHR—HS(E i TR P o
° 2.NHRDREHE/I8x45° » 4x90° ;
e @ 3NHRDEETHE/N. A SNHR—ESE.
( S - i )
)
ll | b
r— o
P —AS
I 1
| P
|
% . J
N -7

NHRD-225

DIMENSI%NT?_ oA B oCHe E = $G H J K Lmax. M N
(mm) | (mm) | (mm) | (mm) | (mm) | (mm) | mm) | (mm) | (mm) | (mm) | (mm) | (mm) DM A B Ofer E F $G H K L
NHRS-260 260 200 210°% 5 45 1334 100 118 6-Mi2 28 52 51 (2 v T B | T L B
225 155  185"°%° 5 35 %

133.4 4-M12 14.5

(i, NHRD-225 1270 Over 45

DIMENSIONS | |5 M N R P i BEEE FHhFL =B
DIMENS!}OENQSL R _IH | I P 1R BEEE FH7L =8 ke Clamping force GD22 Max.speed | Main spindle bore | Weigt
BAEE | {AKE | Clampingforce | GD®, | Max.speed | Mainspindle bore | Weigt (mm) | (mm) | (mm) (kgf) (kgf.m") (r.p.m) (mm) (kg)
kgf. ki
(mm) (mm) (mm) (kgf) (kgf.m") (mm) (kg) 15 48 455 30 0.9 2500 29
30 135 220 55

3500

NHRS-260 1900 25 1200 Over45

KEERBO'



tl\

3

7r

2R

NHRL 4=k bk 7Ak

180°INDEX TYPE AUTO INDEXING CHUCK

1.NHRL-RARATLA2 % 180°9
2 B RESRS, AT AN 2N
3.NHRLREEERN, EEHLENHR—EF5E.

9 F
< 0O
-
T
Hi=R K [
B
DIMENSIONS =
b A1 A2 $C $G
(mm) mm) (mm) (mm) (mm) mm) (mm (mm) (mm)
NHRL-400 350" 4-M20
DIMENSIONS
(mm) (mm) (mm) (mm) (mm) (mm) mm)
NHRL-400 4~16 112
DIMENSIONS THRKER | THBEAKE R BEEE | W | 28
Mammum D\ameter Manmum Iength Clamplng face| @GD? | Max.speed | Main | Weigt
(mm) (mm) (mm) (kgf) (kgf.m") (r.p.m) (mm) (kg)
NHRL-400 4000 16 1400 Over 55 152

| COKF &o:bs gz

SINGLE-SIDED CLAMPINGCHUCK

=
&
2
4e
o
R
i
I

e "' 5 N
] ;
1 _ _I o
< g
A o 1T T
4
E Ll K
B
- 2
DIMENSIONS oA o CHo $G
(mm) (mm) (mm) mm) (mm (mm) mm) (mm) (mm
CQKF-225 170 133.4
CQKF-275 275 210 220 5 45 171.4 1125 60 130
CQKF-304 304 155 220 5 45 171.4 124 60 115
DIMENSIONS T“’I’:t BEEE FHhFL ==
Clamplng force Max speed Main splndle bore| Weigt
(mm (mm) | (mm) (kgf) kgf m°) (r.p.m) (mm) (kg)
CQKF-225 1270 Over 45 29
CQKF-275 15 82 15 30 1150 0.9 1800 Over 45 43
CQKF-304 20 82 15 30 1000 0.9 1500 Over 45 60

KEERBO'



=
e
2
ye
o
R
=
I

®

| NH L £ EE v S TEl

AUTO INDEXING CHUCK (RIDIAL ANGLE)

1.NHLE2 EEHm OB THHETE BT 0°sERBINL
2NLZER EAROEM TSI B F12000ERBMI

| NHRF ALl aa s 160

AUTO INDEXING CHUCK (SIGNAL INDUCTION)

1.NHRFRETBWNERFN(EE5=H,
2.NHRF-R£T A8 x45°,4x90° (E;
3.NHRFREEERN, EEANSNHR—ESE.

MEA/MEB @i icis

SINGLE-SLIDE FACING HEAD

1.MEA/BR7JEDAMNMRIUE FSERRARRIRIERNRILH,

2HHERESTRNBRIFESS,
3ARBRIYETREMBENARFELE, WIEST AR,
4 FEMKEEAIA+0.03mm.

XARFESEBRIN TR TR LU SIE S HAERN R &
EMBRNEHEMMIER, WERHESRATHES

SR REERT

BN FRFRERTHENRERNFERRENIEHS.
BEREAKHEHELHBIMEERTZ ISR

© TH#FEIHEH, G FE10°MRIH, INATE RIZEFN5°,
BEEMRENFEN (MEMT) ;

OFEMERTFE, T ZEATFERIMAEMT;

© N{ZREFNIMER BB

OEEEMAEERL: 0.02mm.

OANFHFRFEEATEER. SHENHEREMNT;

o MEXFFEIEA FMIEROFLEC MY,

SRR RS

KEERBO'



SRR RS

YW =mshigshinE-rs
3 JAW SWING LOCK CHUCK
ENFHRRIFSERTHESMRERNELEBMMEFHITE HgESSR:

EEZZS

7
B

2E5

KWT =t bak2ap: g 5

2 JAW SWING LOCK CHUCK

3 - KWTsg i Fa-REER S URKW.
o TR EFHERL, TUEA B BRIZaEN5° 82 RE10° A0, BERBINRE;
o REETEFIMETERINEIR,
oESEMMEERNA: 0.02mm.
r i “ . N
H M
a [
< | = < g - Nﬁ
— o . — ﬂ
R Q ] b R Q - '|'|L
9)
G % ol u, . %} ]
e/ H B
B B
B B
e A X =/,
DIVERSIONS (I B $C D E F H 0 12 OMENSIONS | oA B $C D E F H I 12
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
KW -06 162 77 140 104.8 5 3-M10 14.3 73 222 KWT -06 162 77 140 104.8 5 4-M10 14.3 73 222
KW -08 200 88 170 133.4 5 3-M12 19.3 89 25 KWT -08 200 88 170 133.4 5 4-M12 19.3 89 25
KW -10 254 105 220 171.4 5 3-M16 24.5 112.8 30.2 KWT -10 254 105 220 171.4 5 4-M16 24.5 112.8 30.2
KW -12 300 105 220 171.4 5 3-M16 24.5 133.3 50.7 KWT -12 300 105 220 171.4 5 4-M16 24.5 133.3 50.7
KW -15 381 120 300 235 6 3-M20 29 171.15 69.85
KW -18 457 126.5 380 260 6 3-M24 29 209.65  108.35
— L DIMENSION:
DIMENSION:
S%qst J K L M N p Q R U (mm) (mm) mm) (mm) (mm) (mm) (mm) (mm) (mm)
(o) (i) i) i) i) i) ) ) i) KWT -06 68 29.4 15 44 38.1 50 17.6~29 30 M16
KW -06 68 29.4 15 44 38.1 5  176~29 30 M16 ml ':’2 1%10 4345 12 Z 4‘;‘5 ig 22305' 3:1 gg mg
KWiz08 &1 = 15 = 4435 - 20554 = Mig KWT _12 110 44'5 19 64 57 70 20. 375 38 M22
KW -10 100 445 19 64 57 70 23.5~ 41 35 M22 - s ’
KW -12 110 445 19 64 57 70 20~37.5 38 M22
KW -15 140 54 24 74 66.7 80 29.6~ 52 40 M24
= 140 2 2 L g67 SO e 7 MO L Hmirie |IVTEER)BEERE| BA) | BXBXAN | #RaDS | =a
KW -21 170 66.7 80 16.4~38.7 30 Gripping Range Plunger Stroke | Jaw Stroke | Max.Speed |Max.Pull Force | Max.Gripping Force Matching Cylinder | Weight
DIMENSIONS * MR | TEER) Hi T KBLHS | ERHEEE | 58 5N (mm) A (mm) (mm) (DIA.mm) (min”") (KN) (KN) )
~ 718 (NE(ER B Bkih | BABEES | BRMRENS
R+ Gripping Range Plunger Stroke| Jaw Stroke | Max.Speed |Max.Pull Force| x Grping Focs Matching Cylinder | Weight KWT -06  ¢127~ ¢120 70~ ¢152 114 7.9 4000 23 70 B-R1225 14.8
4M&(mm) A& (mm) (DIA.mm) (min”') (KN) (KN) (kg) KWT -08 $¢16~ ¢ 152 ¢76~ $203 14.2 9.5 3500 32 96 B_R1225 23.7
KW -06 ¢12.7~ ¢$120 ¢70~ $152 11.4 4000 23 70 B-R1225 14.8 KWT -10 $50~ $203 ¢85~ ¢235 17.5 12,7 3200 40 123 B-R1530 39.5
KW-08  ¢16~ ¢152  ¢76~ ¢203 14.2 9.5 3500 32 96 B-R1225 23.7 KWT -12 $63~ ¢241 ¢ 127~¢305 175 12.7 2500 40 123 B-R1530 58.5
KW -10  ¢50~ $203 ¢85~ ¢235 17.5 127 3200 40 123 B-R1530 39.5
KW -12 663~ 241 127~ ¢305 175 12.7 2500 40 123 B-R1530 58.5
KW -15  ¢78~ ¢310 ¢170~ ¢380 22.4 15.8 1800 54 165 B-R2035 95.2
KW -18  $90~ 390 245~ ¢455  22.4 15.8 1500 55 166 B-R2035 145
KW -21  ¢165~ $470 320~ ¢530 22.4 15.8 1000 56 167 B-R2035 180

KEERBO'



| BW s vrmiklass
HOLLOW SWING LOCK CHUCK -
RERHPOBIETL HEBERIKW-SEAEIL v

S,
= e ™\
s
| H M
.|.|L T
i < i o
)3 §>.._0 S =g ¥
:k,__/-4\ b
e
s

DIMENSIONS bA  C(H6) )
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm (mm)

BW254 101.5 220 3-M16 171.4 19.3 111
BW275 102 220 3-M16 185 19.3 123.5
DIMENSIONS
mm) mm) (mm (mm (mm) (mm) mm) (mm (mm) (mm
BW254 110 44.45 17.5 -56~95 M60 x 2P
BW275 110 44.45 17.5 -45~10 28 M82 x 2P
DIMENSIONS EHEHE HEFE (MTEER)|RERRE | RANN RABEES | AEWEES | R
R+ Gripping Range Plunger Stroke | Jaw Stroke | Max. Speed Max.Pull Force | Max.Gripping Force | atching Cylinder Wexght
5hE (mm) 1(mm) (mm) (DIA mm) (m.n ) (KN) KN)
BW254  $50~ $203 ¢ 85 $235 145 BS1552
BW275 $63~ $220 ¢ 127~ $ 270 14.5 BS1552

BIERERY

| SPW A EEs:LESw

COMPSATION TYPE SWING LOCK 3 JAW CHUCK
o [HEkBRIISAIR, (ERBMIRRISH;
o REFFINEPTHREEZSFIIME, RAKMERE, BR

SREEFIKAIERS;
o BUOSIHME;

K

BARER

RFRH SEABINIS,
6aitk, AF-FAZANL;

GA

)

@

\§2)

N
7 N
-BREF:
ATAHERTEHES,
EEROHER.
DIMENSIONS
C(G7) | D(H8)
(mm) mm) mm) (mm) mm) (mm) (mm) (mm) (mm) (mm) (mm)
5
spw 10 112 5 171.4 6-M16
SPW-12 315 112 220 75 5 107 171.4 70 48 30 6-M16
SPW-15 390 132 300 85 5 130 235 80 75 30  6-M20

D'MENS'ONS Q1(h8) | Q2(H7) | Q3(h7) R’
mm) (mm (mm) (mm) | (mm) | (mm) (mm) (mm) (mm)
12.68 9 52

75~325 12.
SPW-10 18 M12 M10 44.4 36 25 05~255 12.68 19.03 12 5.4
SPW-12 18 M12 M10 44.4 36 25 125~37.5 12.68 19.03 12 5.4
SPW-15 26 M16 M12 63.5 48 52 10~ 40 12.68 19.03 12 4.7

KEERBO'

[
I
|
4e
i
i




SRR RS

| SPW  A&EEs=5Rw

COMPSATION TYPE SWING LOCK 3 JAW CHUCK
o [FEABFNCENR, (ERERIARISHY
o REFFIRITMERIEPSTAEKNE, RBGEE, iR

ErEERIRAERS
o BILSIHME;
4 N

DEHI#ESHEML;
@FMAMESRSF: 1IMERS -2FH -3IRK;

5, FRET 5  REIHABE
i, MITHENMECEERT.

Nes >
DIMENSIONS
mm mm mm mm mm mm mm
SPW-08 M32x1.5
SPW-10 M38x1.5
SPW-12 80 12 M38x1.5 72 18 72 60
SPW-15 105 12 M60x1.5 100 18 95 116

D'MENS'ONS 'Fﬂiﬂ’]ﬁfﬂz SHEHEITE | RAHRESN | BAEHAH =B EEE £
Plunger Stroke Max. PuII Force Max.Gripping Force Max.Sp Weight

NEW stroke (mm) (Abstand HJ (KN) (min™") ()

3500 27

SPW-08
SPW-10 5.4°

SPW-12 5.4° 25 40 96 2500 66
SPW-15 4.7° 30 50 120 1800 115

SPWT A&EEs:10d) €5+

COMPSATION TYPE SWING LOCK 2 JAW CHUCK

o SPWTHFRSSPWIERE

BIERERY

4 = .
B8R # AR
I
&
4o
i
i ®
BT % HERARTHIL,
6 AlE, AF-FHZAN
20
3
fact
R
-BAKF: N\
RTXRENINNER,
EEROMER,
\g P

DIMENSIONS C(G7) | D(H8)
(mm) | (mm) | (mm) | (mm) | (mm) mm) (mm) | (mm) | (mm) mm) (mm) (mm)

SPWT -10
SPWT -12

254
315

112
112 220 75

171.4
5 107 1714 70

6-M16
48 30 6-M16 18

DIMENSIONS Qi(he) | Q2H7) | @3h7) | R
(mm) mm) mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
9 5.2

SPWT -10
SPWT -12

444 36
X

75~325 12.68
25 0.5~25.5 12.68
125~375 12.68

12.68
19.03 5.4
19.03

DIMENSIONS PEMAGE | BAEHS | BAEHN(H) | BEDKE| ER
V|| Ll Plunger Stroke | Max. PuII Force Max. anpmgForce Max. SD%G Weight
(mm)|(mm)| (mm) |(mm)|(mm){(mm)|(mm)| Jaw stroke R’ (mm (AbstandH)tKN (min” kg)

SPWT -10
SPWT -12

75

80

10 M32x1.5 65 11 62 35
12 M38x1.5 72 14 67 46
12 M38x1.5 72 16 68 60

5.20
5.4° 25 27
5.4° 25 27

4000
3500
66 2600

38

KEERBO'



SRR RS

| SKW avjittvabsin: 53w
6 JAW SWING LOCK CHUCK

EHFRMAMEENEESIA:

o I F RIFHER T IR STEMMEL M,

OB MBI AR ERY, WLRFEELR;
oRENTRE, ERFGK, WRIIMHREREH;

o FEARHHIN, AXIMI2MEMARF, RABRERIEEE,

P
3
s e =
= —,
H I=
E
- Tp=_e J
DIMERSION: [ B $C b) E F 4G H I
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
SKW —10 254 94.5 220 50 5 M38x1.5 1714 19.2 135
SKW —12 300 105 220 65 5 M50x1.5 1714 233 16.5
SKW —15 381 116.5 300 75 5 M60x 2 235 295 19

SKW -10 2
SKW -12 42 445 13.5~18.5 103 25 34
SKW -15 50 M20 25 M16 57 0~18 130 25 44.5

B K L M N(h7) P R s T
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
35 M16 22 M10 38.1 8.5~20 85 5 294
M16 23 M10

i
(
SKW -10 110.5 $92~ ¢ 254 140 B-R1225

SKW -12 135 $115~ ¢ 300 2" 24 170 B-R1225 5
SKW -15 171.3 $160~ ¢ 381 18 1.7° 26° 1800 80 240 B-R1225 88

DIMENSIONS w R¥FEE HESRE | MTRfa BREEORE| BANN | RABKESH | ERBEES | =R
i Gripping Range | Plunger Stroke SR HFR Max.Speed |Max.Pull Force| Max Gripping Force | patching Cylinder | Weisht

{mm) (mm) mm) | *% (mir” (KN) KN) 9

11.5 1.7° 23 3000 46 32

15 24 2500 64 1

B RERS

(STF A1 Fautib:gas
6 JAW SWING LOCK CHUCK

T AT Eh-R R YIBERL F:

o AT REHHELTHIUR STERMBTH,;
oEILAIME, BFE TRENREN,
oRENTE, EAFGK, RETHREREM;
oE AT ML EFETIHMMI, FERMFH

PRAE TR RE (L3
'd N
- - J

DIMENS}C})ENT!? bA B ® c D E E %G H |
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
260 111 220 48 6 50 26

STF260 M38x1.5 1714

DMENSIONS1 K L Mh7) | N(f8) P Q R s
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
25 M16 22 10 8 14.5~35.5 M8 82 25

STF260

DIMENSIONS T EFFEE HESR | TRfa BREEEKE| BANN | BABKE) | ARMEOES | =R
R Gripping Range | Plunger Stroke STV S Max.Speed (Max.Pull Force | MexGripping Force | Matching Cylinder | Weight

(mm) (mm) mm) e min’ (KN) (KN) (k9)

22 1 36" 58 3800 20 44 38

STF260 $85~ $260 2 B-R1225

KEERBO'

=
e
&
4
i
®




SRR RS

BRHE-MER

PULL BACK 2 JAW POWER CHUCK
o BUTHIRF R SBUIER

| BU A=ies:lgss

PULL BACK 3 JAW POWER CHUCK

o BUSHIE = ME& SBUTERE M= R THER;
o BUSHIR FRIERTNIEEE S TEEERN T4 HEFRESTRRS
o AR T RE BRI KBl (E/H;
o ESEAEEA: 0.02mm.

BIERERT

/ \ ( R
M
—
% ':: ; 3 =71 ©|
< o _— - g
L K | —" —
o
[ N
=i A - -
3 M
H R~ w
g
— |
‘I &
J-E
B
N ) N
DIMENSIONS | DIMENSIONS HEGE NTE(ER)| REOEE BAL) | BABRES | wouewns #EE BEEREN
o P\ungey Stroke [ Jaw Stroke Max Speed Max.Pull Force | Max.Gripping Force; : anpmg Hange Max.Pressure me
(mm) mm) (mm) [ (mm) | (mm) | (mm) (mm) mm) (mm) | (mm) mm) ©OAmm) | (min kgf (kg || Metching Cylinder Mpa ko)
BU-04 110 5 M10x 1.5P 12~20 BU-04 5.8 3500 1350 K-Y0615 15 90 4.5
BU-05 130 100 5 3 MB M12 x 1.75P 17=25 BU-05 5.8 3500 1000 2000 K-Y0815 15~130 2.2 7.5
BU-06 165 85 140 104.8 5 6-M10 16 M16 x 2P 24 36 24 ~34 BU-06 10 72 3500 1500 2500 K-Y1020 30~160 2.2 15
BU-08 210 95 170 133.4 5 6-M12 18 M20 x 2.5P 28 36 28 ~38 BU-08 10 7.2 3000 2500 4500 K-Y1225  40~210 25 26
BU-10 254 110 220 171.4 5 6-M16 22 M24 x 3P 24 46 32 ~47 BU-10 15 10.8 2500 3500 6000 K-Y1225  50~254 3.3 45.5
BU-12 304 125 220 171.4 5 6-M16 22 M24 x 3P 24 46 32 ~47 BU-12 15 10.8 2000 4500 7500 K-Y1530  74~304 3 70
BU-15 381 130 300 235 6 6-M20 30 M30 x 3.5P 24 43 51~71 BU-15 20 145 1800 5500 9000 B-R2035 95~ 380 2.5 105
BU-18 450 130 380 330.2 6 6-M24 32 M30 x 3.5P 34 43 Sl BU-18 20 145 1200 6500 12000 B-R2035 160 ~450 25 150
BU-21 530 130 380 330.2 6 6-M24 32 M36 x 4P 30 53 52~72 BU-21 20 145 1000 6500 12000 B-R2035 230~ 530 2.5 208
BU-24 610 130 880 3302 6 6-M24 32 M36 x 4P 30 53 52~72 BU-24 20 145 800 6500 12000  B-R2035 250~610 2.5 268
DIMENSIONS Q R 71 7o 73
(mm) mm) (mm) (mm) (mm) mm) (mm) (mm) (mm) (mm)
BU-04 19.5 36.6~39.5 50 255~335 25 — 3-M6
BU-05 245 = 44.3~47.2 56 28~36 30 = 3-M6
BU-06 32 30 35 — 54.8~58.4 70 35~45 35 20 6-M6
BU-08 38 41 40 26 67.2~70.8 84 46 ~56 45 25 6-M8
BU-10 50 46 50 32 79.6 ~85 100 50~65 55 30 6-M8
BU-12 50 51 60 36 96.55~ 102 120 BS540, 70 35 6-M10
BU-15 50 51 60 36 131.75~139 150 57~77 95 50 6-M12
BU-18 50 51 70 36 169.7~177 150 ST 100 60 6-M12
BU-21 58 62 80 42 206.4~2136 150 68 ~88 90 160,230 6-M12
BU-24 58 62 80 42 2064 ~2136 180 68 ~88 90 180,270 6-M12

KEERBO'

[
I
|
4e
i
i




BIERERY

| FBU A6 557 | SBU A0t %1t i3
PULL BACK 5 JAW POWER CHUCK PULL BACK 6 JAW POWER CHUCK

o ERTFHESAHFAN IS,
o BRTNIEEESTEEEERNTH;
o SRR T RAE SR EE A
o EEEAMBEL: 0.02mm

o BRI T B LORARN T4,

* ERTNIEEESFITEEERNIM,
o EERE T HI REEIRIRRIT R,

o EEFEBEEXL: 0.02mm.

e — 4 ™
o T I.L_
— —
K’: - E l@)
.l.|L g i et .l.|L
* N =T ®
( | {
&=
] =2
: £
5= -
DlMENSIONS c(G7) it
DIMENS!ONS (mm) (mm) mm) (mm) (mm) (mm) (mm) (mm) (mm (mm)|{(mm)| (mm)
210 1 1334 M20x2.5P
mm) '“”‘) (mm)N|Rm| KmmS{Kmm) (mm) "‘"‘) (mm)imm){imm) SBU-10 254 1714 M24x3P 18 16 12 M16
FBU-08 210 80 170 5 M12 133.4 M20x2.5P 10 M12
FBU-10 254 220 M12 1714 M24 x 3P M16

DIMENSIONS
(mm) (mm) (mm mm) (mm) mm) (mm) (mm) (mm) | (mm)
DIMENS!ONS 77.3~80.9 35 M20 x 2.5| 50
(mm) (mm (mm (mm il (mm) (mm) (mm) (mm) | (mm) SBU—10 34-44 90.2~938 M24x3P 55

FBU 10 34—44 902 938 5 M24x3P 55

DIMENSIONS HEAR (UTEER) | REDEE| RALH BABRES | prpens | £H5E ERES | EE
~F |Punger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force | Max.Gripping Force) M:rh“wlr CITnuer G(IDDIV\Q Range Max Pressure | Weight
(mm) ©Amm) | (mir) ) (kgf) — Mua) (9

7.2 3000 2500 4500

DIMENSIONS | #rf778 (L7 (Mf2)| BB EISES : CETY o Py T Z K-Y1225 7o 210
Pﬁ,@%f ”ﬁl(fs%‘e Tﬁa”x,ﬁl%e% Mfﬁ?!lme M“’EEZ.H;S*F“L?’ n::;fﬁclﬁm - | Gropig Fage ﬁ;’gi&ﬂ Weight SBU—10 7.2 2500 3500 6000  K-Y1225  90~254
(mm (DIAmm) | (min™) (kgf) (kgf) 9%y () (Mpa) ()
FBU-08 7.2 3000 2500 4500  K-Y1225 70~210 2 23
FBU-10 7.2 2500 3500 6000 K-Y1225  90~254 3 39

KEERBO'



BHRER
< * ey 9
| BUE A5oErgt i3t | KU Aissctsnsoas:
INSIDE DRAW DOWN POWER CHUCK OUTSIDE PIN ARBOR 3 JAW POWER CHUCK
o W RERFNETHNFLIFFRING EiHE AR o MMFEHREBBEPFL2MN, 3TFIFZ2N, 3TATHEE; P ;
o VBRI (2R R EEA o HRRER-FRERFITHRERL, SEENFTEEER ,® m
5] &
o NEHATRER AT BEIN T/ T TR TS R R I -RRD T (55 FE; A0
o ESEAMERETA: 0.02mm. o ESE(MEEANL: 0.025mm. =
- : N e N
N 0
E = 45 E
W& d ! W&
2 e 5‘ _ 2
L %) 1 = ;
4 # — éé_ o 15° 4
i€ - j;@ g g i€
)3 == = - g 15° ®
= S
S i ] i R — T B 3 - e - N -
u (7] I 30°
(&}
f AN
Eﬂ &
E 1
| 3
E
T B
Ne 2/ \g P
DIMENSIONS DIMENSIONS
R+t R~ B K
mm) (mi mm (mm)
BUE-05 135 75 5 KU-03 75 54.5 — f 1.5~2.5
BUE-06 165 80 140 32 5 6-M10 1048 34~42 36 23~31 15 KU-04 110 725 100 55 43 85 706 3-M10 4  9.25~10.75
BUE-08 210 95 170 38 5 6-M12 1334 45~55 36 25~35 15 KU-05 135 84.5 135 63 51 110 82.6 3-M10 4  11.75~1325
BUE-10 254 110 220 50 5 6-M16 171.4 50~65 46 32~47 22 KU-06 165 115 155 77 65 140 104.8 6-M10 5 13.75~ 16.25
BUE-12 304 125 220 50 5 6-M16 171.4 55~70 46  32~47 22 KU-08 210 135 180 90 70 170 1334  6-M12 5  13.75~16.25
BUE-15 381 139 300 90 5 6-M20 235 56~76 50 35~55 30 KU-10 254 150 230 100 82 220 1714 6-Mi6 5  18.75~21.25
BUE-18 450 140 300 90 5 6-M20 235 56~76 50 35~55 KU-12 304 155 240 100 82 220 1714 6-M16 5  4375~46.25
DIMENSIONS DIMENSIONS
R+t R+
m (mm (mm) (mm) mm)
BUE-05 56 24.5 - 30 246~275 25 M12x1.75  3-M6 KU-03 175~215 12 15 3-M6 8 10  M10x15 19 — 7 26
BUE-06 70 30 20 13 35 35~37.9 40 20 M16 x 2 6-M6 KU-04 13~19 17 20 3-M6 18 12 M20x15 24 = 95 32
BUE-08 84 41 26 18 40 43~46.6 50 25  M20x25 6-M8 KU-05 17~23 20 24 3-M8 23 12 M25x1.5 30 — 13 415
BUE-10 100 46 32 22 50 28~36 50 30 M24 x 3 6-M8 KU-06 1~11 30 30  3-M10 26 12 M28x15 31 49 17 47
BUE-12 120 51 36 24 60 28 ~36 70 40 M24x3  6-M10 KU-08 1~11 35 35 3-M12 32 15 M35x15 30 51 205 62
BUE-15 150 46 36 34 70 94~101.3 90 45  M30x35 6-M12 KU-10 2~ 12 40 40  3-Mi4 35 15 M38x15 30 59 23 7
BUE-18 150 51 36 34 70 124.3~131.6 100 60 M30x35 6-Mi2 KU-12 2m12 P 0 M4 42 15 M45x15 0 51 23 7
DIMENSIONS | #2478 [T (ER) | REEEE| RXALA BRHEE S ) 2 o BeEREn | ER DIMENSIONS | #2471 |[MTRE(ER) | REEEE| EXALA BABERT | wruwome £ BeERE ER
R | piynger sm;e Jaw Stroke Ma?(.Speed Max.Pull Force | Max Gripping Force Jifsi?ﬁéﬁ;r Gii r?éﬁnge IaiaT.Pressure Weight R | piinger Stvofe Jaw Stroke | Max.Speed | Max.Pull Force | Max Gripping Force J;E;f %i;r Gri;iﬁgaﬁénge Max Presaure | Weight
(m | (OAmm) | (min’) (KN) (KN) o (mn) (Mpa) ) (mm | (OIAmm) | (min”) (KN) (KN) )l (mn) (Mpa) | G
BUE-05 8 5.8 5000 11.7 225 B-R0715 20~110 2.2 8 KU-03 4 2 10000 5.8 16.7 K-Y0615 4~32 2.06 1.5
BUE-06 8 5.8 5000 14.7 245 B-R1020  40~140 3.4 13 KU-04 6 3 7800 10 28.4 K-Y0815  10~60 2.06 4
BUE-08 10 7.2 4500 245 44.1 B-R1225 48~180 35 26 KU-05 6 3 7800 14 39.2 K-Y0815  15~84 25 6.6
BUE-10 15 10.8 4000 34.3 58.8 B-R1225  65~220 3.1 435 KU-06 10 5 6500 17.7 57.9 K-Y1020  25~100 255 142
BUE-12 15 10.8 3500 44.1 73.5 B-R1530 80~270 3.1 68 KU-08 10 5 5500 25 79.4 K-Y1225  25~130 25 24
ggg-: 5 zg Eg 2000 53.3 88.2 B-R2035 100~ 380 25 1 l Z KU-10 10 5 4200 35 99.5 K-Y1225  35~160 335 422
-18 ! 2000 53. 88.2 B-R2035 100~ 450 25 KU-12 10 s 3200 35 995 Koy1225  85~210 335 605

KEERBO'



BIERERY

MR BRI MER

OUTSIDE PIN ARBOR 2 JAW POWER CHUCK
o KUTHIRFRSKUIER

B
—
2
21;
.l.|L
E
D
DIMENSIONS
(mm) | (mm) | (mm) mm) (mm) (mm) (mm) | (mm) (mm)
KUT-06 116 6-M10 13.75~16.25
KUT-08 210 135 180 90 170 1334 6-M12 5 13.75~16.25
KUT-10 254 150 230 100 82 220 171.4 6-M16 5 23 18.75~21.25
DIMENSIONS
(mm (mm) | (mm) | (mm) [ (mm)| (mm) (mm) (mm) | (mm) | (mm) | (mm)
KUT—OS 1~11 3 M12 15 M35x1 5 205
KUT-10 2~12 40 40 3-M14 35 15 M38x1.5 30 51 23 72
DlMENS|ONS HERE MTRER) | BREEEE| &AL RABEEN EERINE | HEE EREAES | ER
F | Plunger Stioke | Jaw Stroke | Max.Speed | Max.Pull Force | Max.Gripping Force M:lchin o E‘ der | Gripping Range | Max Pressure | Weight
] (DAmm) | (min) | (kg (kg) ok ) (Mpa) | (9
KUT-06 5 6500 1300 4000 K-Y1020 25~100 2 55
KUT-08 5 5500 1700 5500 K-Y1225 25~130
KUT-10 1 0 5 4200 2400 7000 K-Y1225 35~160 3_35 35

| PU LRSS 35w

HOLLOW OUTSIDE PIN ARBOR 3 JAW POWER CHUCK
o RIEXEHREBFPLN, 3MAF=2/N, 3MeT#iE

° %HI‘ch-Eﬁ ERF I TimEERL. EEE*DW?EE %

KO THEEAR T4 REE R REP a5,

e ESTEMBERIL: 0.025mm.

- R

[
I
|
4e
i
i

A

DIMENSIONS c(G7)
(mm) | (mm) | (mm) | (mm) (mm) (mm) (mm (mm) (mm (mm) (mm)
PU-206 165 155
PU-208 210 180 170 5 133 4 143 20 5
PU-210 254 230 82 220 1 02 26 5 171.4 158 23 72
PU-212 304 240 82 220 134 26 5 171.4 163 23 100
DIMENSIONS p
(mm) [ (mm) (mm)| (mm) (mm (mm) (mm) (mm) (mm) (mm)
PU-206 10 10~20 13.76~16.25 -1~9 M33x1.5
PU-208 M12 10~20 13.75~16.25 -1~9 M45 x 2 295
PU-210 M16 14~24 72 40 18.75~2125 -1~9 92 M62 x 2 35.5 39
PU-212 M16 9~19 72 40 43.75~46.25 -1~9 alil7 M92 x 2 35.5 44
DIMENSIONS HEFR [TRER) | REOEE BALAN BABXRS | ppueone | %500 REERES | 2R
| plunger Stroke | Jaw Stroke | M Speed Max.Pull Force | Mex Gripping Force Matching Cylinder anp.ng Hange Max.Pressure | Weight
(mm ©Amm) | (min) ) (KN) 9y ) (ka)
PU-206 5 6500 17.7 57.9 K-Y1020 25 100 25 14.5
PU-208 5 5500 245 79.4 K-Y1225  25~130 24 25.5
PU-210 10 5 4000 345 99 K-Y1225  35~160 3.3 435
PU-212 10 5 3100 34.5 99 K-Y1225 85~210 3.3 60.5

KEERBO'



A RERS

thzs gt = MikE-ER
HOLLOW OUTSIDE PIN ARBOR 2 JAW POWER CHUCK
e PUTHIRF R 5PUER

= =3
R ; 1
n ENES
s ;
d | ©
| ! —\\Q, >
| S, 30)w
| 30°

60 °

s ‘ oA

DIMENS\ONS
C(G7)
(mm) | (mm) [ (mm) [ (mm) (mm) (mm) (mm) (mm) mm) (mm) (mm)

PUT-206 165 155 65 140 58 4. 123.5
PUT-208 210 180 70 170 79 1 33 4 143 20 5
PUT-210 254 230 82 220 102 26 5 171.4 158 23 72
DIMENSIONS P
(mm) [ (mm) (mm)| (mm) (mm) (mm) [ (mm) mm) (mm) (mm)
PUT-206 10~20 47 13.75~16.25 -1~9 62 M33x 1.5
PUT-208 M12 10~20 35 18.76~16:261'=1"~9 77/ M45 x 2 29 5
PUT-210 M16 14~24 72 40 18.75~2125 -1~9 92 M62 x 2 35.5 39
DiMENS'ONS HEFR |MTRER) REEEE| KA BA#IES gRpEEe | LH5E REERES | 1R
F | Plnger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force | MxGripping Force| Metchina Cincr anpmg Range Max.Pressure | Weight
(mm (DIA mm) (min™") kgf kgf ey Mpa (ko)
PUT-206 6500 1300 4000 K-Y1020 25 100
PUT-208 5500 1700 5500 K-Y1225  25~130
PUT-210 1() 5 4000 2400 6500 K Y1225  35~160 3 3 41

| KUL £3: 3 Ra:El:35v

PIN ARBOR POWER CHUCK FOR DIFFERENTIAL MECHANISM
e KPOALBRTH, MAVMTEREWHMD - w ©
cEHFEAOTHIEN, EFNIRESOERIMA
o BIEAMIERBIERARMIL,
o KHBORILBER;

o ESRMETA: 0.02mm

~

SRR RS

|
i
'I?

0w

]
5

7

J
.

L?:

\%/EEDL
jilmn

|

KuL-12

D}MENSIONS p
(mm) | (mm) (mm) (mm) [ (mm)

KUL-12 70~80 M6 M33x1.5 16 28

. R
i ping Hange Max. Pressur Weight
(mm) Mpa (kg)

KUL-12 10 5 3000 24 60 B-RE1225 135~192 50.5

KEERBO'



[
I
&q
4e
ik
i

| PUE &:GEdctia3:

INSIDE PIN ARBOR POWER CHUCK

o BT HEEIRARAIZRENKE, BEEFEIHTEWE
EEmRIhEE;

o FRIEN FHEEANEEEMEOEMNLTBEERI T4

o ESEMBERIXL: 0.025mm.

0
0C(67)

P

DIMENSIONS
(

PUE-05 5 M16
PUE-06 165 115 140 40 83 5 1048 M18
PUE-08 215 139 170 50 94 5 1334 M20
PUE-10 165 144 220 60 94 5 1714 M24

DIMENSI%NT?_ L M
(mm) (mm) (m

N
PUE-05 12~18 33~34.4 24

DIMENSIONS | #2471 [[THR(ER) RELDEE| JALN BARESN | ppyons
RF | pinger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force | Max Gripping Force Mut ting Cyfinds

mm | OAmm) | (min) (KN) () g Lyinder

PUE-05 6 2.8 6500 13 38.5 B-R0715
PUE-06 10 4.6 5500 18 54 B-R1020
PUE-08 10 4.8 3500 25 59.6 B-R1225
PUE-10 10 4.8 3000 35 80 B-R1225

Mé Mé 33 20 30
PUE-06 28~38 445~469 31 M6 Mé 35 23 30
PUE-08 28~38 78.75~81.05 36 M8 = 36 25 —
PUE-10 35 ~45 41 M8 Mé 35 26 30

(mm)
3~9 15
U~y 15
15~115 18
18

e
Gripping Range
(mm)

65~80
70~105
75~155
60~ 190

BEERES | 1R
Max.Pressure | Weight
(Mpa) (kg)

1.9
2.5
25
2.5

K
(mm)

M10
M10

7.5
14
30
36

LEZZS

7
B

2E5

| SKU favt:E= e 3t
OUTSIDE PIN ARBOR 6 JAW POWER CHUCK
o NATFHEIHNSEERFNT,

o ERFHEBPFIITHMEHEEME, BOAME
o A FEMEFHBERE, FOo@EALATFKEHT,
o EEFEMAEERNA: 0.02mm.

a
=
&
] &
= .l.lL
i
i
S 3

/]
D'MENS'%Nq% A A2 B © E F(G7) G I K
(mm) (mm) (mm) (mm) (mm) (i) (mm) (m (mm) (mm)
SKU450 450 410 177 380 86 76 330.2 10 38 M24

P Q S
(mm) (mm) (mm

40 180 1~16 176 ~182 335

u
(mm)

M75x2

DIMENSIC})QNT% L M
(mm
24 M8

SKU450

-
(mm)
0~15

DIMENSIONS | #4772 |IUTR(ER) REERE| BAL) | BABERS | ppuews | spoE | BEERE) | ER
R | punger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force | Max.Gripping Force M;ChI;V CE o | Grioping Range | Max Pressure | Weiont

(m) | ©Amm) | (min) | (KN) (KN) i (m) (Mpa) | (o

450 15 12 2000 58 10i 2.5 122

SKU 8 B-R1225 210~335

KEERBO'



BIERERY

SRR RS

| BF A&SiEti g3

FINGER POWER CHUCK
o BFRERFITFHEFRE AR THNEEH T
o ERTRIMERRERERTEEE T4

| SPUE Vit t=ast i st

INSIDE PIN ARBOR 6 JAW POWER CHUCK

o AFHETIHNSHEENERNTLINT;
o EFRFEHBERFH THMEREELE, B.OHME
o ESEMMEERNL: 0.02mm.

' » P =%

SRR RS

DAI (26D

\ J BF-05, 06,08, 10 BF-08, 10, 12,15, 18
J
DIMENSI%NQSL OH | J
DIMENSIONS (mm) (mm) (mm) (mm)
(mm) (mm (mm) | (mm) | (mm) (mm) (mm) (mm) (mm) (mm) (mm) BF-05 135 110 110 37 25 82.6 5~25
171.4  154.5 BF-06 165 110 140 40 25 104.8 5~25 8

SPUE300 235 156.5 8.5 BF-08 210 120 170 56 40 133.4 5~25 16
BF-10 254 120 220 56 40 171.4 5~25 16
BF-12 304 120 220 56 40 171.4 6~26 —
BF-15 381 120 300 70 45 50~84 200 235 6~40 =
BF-18 457 130 300 70 45 50~84 260 235 6~40 =

DIMENSIONS
DIMENSIONS
(mm) (mm (mm) | (mm) | (mm) (mm) (mm (mm) (mm mm) (mm)

SPUE250 M16 2 13 100 M20 () s nm)

SPUE300 M20 ~11 255 23 M24 11 5 BF-05 3-M10 15 30 50 7o 425 M12x1 75P
BF-06 6-M10 15) 30 50~70 — 57.5 M16x2.0P
BF-08 6-M12 1 8 15 30 40 50~70 0~20 1 6 77.5 M20x2.5P
BF-10 6-M16 18 15 30 40 50~70 0~20 16 99.5 M20x2.5P
BF-12 6-M16 18 15 30 40 — 0~20 — 124.5 —

e TR TR R— : — - BF-15 6-M20 22 15 35 50 = 0~34 — 155 =
SIEHEE Pﬁfyg& WL ﬁ:’xgﬁg Bl (. piicesna B 17 T E (S . BF-18 6-M20 22 15 35 50 —  0-34 — 192 =
o (DIAmm) (i) (KN) (KN) Matching Cylinder pp(m?n] g ko)
SPUE250 11 8.8 2500 45 80 B-R1225 154~242 34 DIMENSIONS | o T | METIE | BALS | BEERES) | REERE | wpugwe
SPUE300 53 11 8.8 2000 54 95 B-R1225 210~280 48 alarokal|iMex il korcel[EMaxiBresstied Ve Spee‘j Matching Cylinder waan
(mm) | (mm) | (DIA.mm) kgf (C) kgf’cm Mpa) (min” (kg)

BF-05 — 3-M6 20 B-RH1020 12
BF-06 - 3-M8 20 9 4 3600 B-RH1020 13
BF-08 M32x1.5 3-M8 20 18 2.5 2900 B-RH1020 24
BF-10 M32x15 3-M8 20 18 25 2400 B-RH1020 37
BF-12 M32x1.5 6-M8 20 18 25 2100 B-RH1020 49
BF-15 M45x2  6-M10 34 35 3 1800 B-RH1225 75
BF-18 M45x2  6-M10 34 35 3 1500 B-RH1225 106

KEERBO'



A RERS

| D -BFF &3Etht-:33:

FINGER 3+3 JAW POWER CHUCK

o W Mg EFABEHIHE3RIEHMEETIE,
BB E R = TR RE,

o &M Tl THRFOENM .

| BFF &35

FINGER POWER CHUCK
o BFRERFHTHFXE TR THNEEH TR

o ERTHIMETRER RRTEEE T4
o BHEEEEN, FHHERFELMN—RIENT
o N, MTEERER M.

=

DA

[
I
&q
4e
ik
i

SRR RS

G

\s
DIMENSIONS DIMENSIONS
—

m ) (mm) (mm) (mm) (mm)
BFF-06 5 i = 35 D-BFF275
BFF-08 210 138 5 ;i 34~40 42 112 DIMENSIONS
BFF-10 256 145 5 . 40~48 52 151
BFF-12 304 145 220 55 5 115 171.4 40~48 52 201 h.-.
BFF-15 381 160 300 70 5 129 235 47~57 60 270 D-BFE275 31~49 0~16 45 16 15 18
5 5 8K B 3 §
IR EEEE R R e e e
D-BFF275 0/8 60° 44 18 2.5 2500 B-RH1020 64
(mm) (mm) (mm) (mm) | (mm) (mm) |[(mm)| (mm) |(mm) | (mm) [ (mm) |(mm)
BFF-06 6-M10 14 30 32 26~40 M10 M16 64
BFF-08 6-M12 18 30 27~43 M12 100 M20

B
— 6-M16 18 35 8 37~55 M1 4 M24 M
R 21 i O S I}ﬁ]}:'2+2lm?aﬂv-tmm§fﬁ :
10

2 6-M20 18 35 50 36~56 M14 80 45 M30 220 M1i2

BERSLS FINGER 2+2 JAW POWER CHUCK
© BFFH4¥ = 5BFFEE ;
MENSIONS | risss=sa | HEGE| mmazm | BAHS | BEEHES | &5 DEE I . SRyl L] ’
R. SRR M;’( Sp?ed J:EE”;‘;%YT:MH ki ﬁ‘l Z_J-L/LJ:EIJ*E*&.EIL/(E%] :
(mm) kgf(KN kgf/cm Mpa) mm’ (k) oERTHEETIHMPOEMURKERA THMHEMT.

BFF-06 0/6 B-RH1020 16
BFF-08 0/6 3000 B-RH1020
BFF-10 18 0/8 60 18 2 5 3000 B-RH1020 42
BFF-12 18 0/8 60° 18 25 2000 B-RH1020 60
BFF-15 20 0/10 60° 35 25 1800 B-RH1225 100

KEERBO'



SRR RS

| BSA £} =108

AXIS MACHINING CHUCK (CLAW EXTENSION)

o TR RN TR 2 5 B TR TR A (i 12, ﬂ€w§>
B TR B B A 2 T B M TR BB R K AT A e

o —RERERMEMT MERE +Tmm;

o MBI AR EN IS, 4 r R B F) P E IR A S AR G0N T

e

7=
N

DIMENSIONS
mm) (mm) | (mm) | (mm) (mm) (mm) | (mm) (mm (mm (mm) (mm)

BSA-06 168 15~ 50
BSA-08 200 165 170 146 80 M38 X 1 5 24~74 M16
BSA-10 260 215 220 61 5 18 146 90 M50 x 1.5 25~83 M16
BSA-12 320 275 235 75 5 18 146 105 M56 x2 33~98 M20
RS R s Pt ek S e | AEREIZE | (L5,
(mm) | (mm) (mm (mm) (mm) (KNi (KN) Matching Cylinder| 9
BSA-06 0.5~48 5 B-RE1060 22
BSA-08 25~825 5 B-RE1060 30.5
BSA-10 25 80 25 27 ~93.5 5 10 60 65 B-RE1260 54
BSA-12 28 1025 33 154~93 5 1.5 80 100 B-RE1260 98

BIERERY

| BSB &V Rgg:=1e:10E )

AXIS MACHINING CHUCK (CHUCK EXTENSION) )
o BMGREMMTFEMMA: —RERTHRMAMT,;
° %l‘ Eﬁ'ﬂmm

e
T ~ };_:I
5 p SsEn
L iy ] 8
L =~
s oy |
= =
H b . (.|
1MIkRHER:
28I
3.4EmI:
DIMENSIONS
(mm) mm) (mm) (mm (mm) (mm) (mm)

B-08 176 184 M34x1.5 133.4 22 75 Mi12 17 30
BSB 10 256 2138 226 171 54 M40x1.5 1714 295 95 M16 26 36
BSB-12 325 251 286 220 70 M45x1.5 235 50 27 135 M20 28 44
BSB-18 460 309 410 335 110 M85 x2 330.2 17 M24 34 52

DIMENSIORN_\]§ N P .
(mm) | (mm)

| HEsE BEE | RAHN ﬁk‘?%#ﬁ )
funger Siroke m%fﬂz Max peed|Max.Pull Force| Max Matchlng Cylinder eig o
(m) | RRAF |0 (KN) (KNF ‘k 3
34 3

BSB-08 M12 -4~55 15 1.5'/4.5 4000 58.8 B-RE1060 39
BSB-10 Mi6 0~70 53 17 13745 3000 100 B-RE1280 70
BSB-12 M20 60~140 58 22 1.37/47 2500 7o 140 B-RE1280 128
BSB-18 M24 565~154 65 325 2'/5 1800 90 180 B-RE1798 310

KEERBO'

SRR RS



| KBG £ 1+ 3 hsad

BEVEL GEAR MACHINING CHUCK

o M ATMIAERBERRFZERRE
o UL AEE, MIAE. IMERIIE,

o (RIERRMSMERIHE.

e

@A

SRR RES

- S
DIMENSI%NT? A B c D = E G H I K

(mm) | (mm) mm) | (mm) (mm) (mm) (mm) (mm) (mm) (mm)
KBG-08 215 105 170 38 5 M20x25 1334 26.9~375 89.6~102.6 45

SIONS | | P S | pmpe MTEER)TEET) &&EE BABLS S| ARMEES | E&
Rt IPlunger Stroke| Jaw Stroke | Jaw Stroke | Max.speed|Max.Pull Force|Max Griping Force Matching Cylinder|Weighd]
(mm) | (mm) | (M) | () | (iAmm) | OAmM) [ (rpm) | kof (KN) kgf(KN) (k9)

16 7.9 26

DIMEN
KBG-08 29~49 12 20 26 B-R1225 25

2200 15

EEHRIERFEENIEERFEFRRHK

| BN A3 6035+
HOLLOW HIGH SPEED 3 JAW POWER CHUCK
o 2—FphEFL R, ERER TS,

o ESTENEERIA: 0.02mm.

HNAFERY

Ve
w
el
3
L]
L BN-204, 205 BN-206, 208, 210, 212, 215
Ng
DIMENSIONS] B |cHe)| F G H J K L N
(mm) [ (mm) [ (mm) (mm) | (mm) | (mm) (mm) (mm) (mm) mm (mm)
BN-204 110 59 85 4 76 70.6 26 3-M10 15 14 20.3~23
BN-205 135 60 110 4 96 82.6 33 3-M10 15 14 23.8~26.5
BN-206 165 81 140 5 116 104.8 45 6-M10 16 20 29.25~32
BN-208 210 91 170 5 150 133.4 52 6-M12 18 25 35~38.7
BN-210 254 100 220 5 190 171.4 75 6-M16 19 30 46.6 ~51
BN-212 304 110 220 6 190 171.4 91 6-M16 25 30 56~61.3
BN-215 381 133 300 6 260 235 100 6-M20 28 43 77.4~82.7
SIMENSIONS o P Q R | s T U v w X
(mm) (mm) (mm) | (mm) | (mm) [ (mm) (mm) (mm) (mm) (mm)
BN-204 6.75~11.25 -6.5~3.5 23 10 14.5 2 M32 x 1.5P 12 23 53
BN-205 6~19 =)= 25 10 19 2 M40 x 1.5P 12 31 62
BN-206 7~24 =11 31 12 19 2 M55 x 2P 20 37 73
BN-208 10~30 -1.5~145 35 14 20 2 M60 x 2P 30 39 95
BN-210 12~34 -10.5~8.5 40 16 25 2 M85 x 2P 40 43 110
BN-212 12~46 -15~8 50 21 28 2 M100 x 2P 50 51 130
BN-215 13~46 -15~8 5 M130 x 2P 50 66 165

(DIA.mm)

Matching Cylinder

62 2 42
DIMENSIONS | gzs | #EfE |MRERIBBERE Bxiif) | BABEES | weyews
RSF | Tt | Purer Soke| Jaw Sroke | Max.Speed | Max. Pul Force | Ve Gipngfore ERMIES
Diameter(mm)l — (mm) § (min”) kgf (KN) kaf(KN)
26 10 5.4 14
33 10 17 35

EHHEE
(mm)

Max.Pressure Gripping Range | Weight

BN-204 7200 28.5 BS1036 8~110 4
BN-205 : 6300 BS1036 10~135 6
BN-206 45 12 5.5 5400 21 56 BS1246 13~165 125
BN-208 52 16 7.4 4300 33 82 BS1552 16~210 22
BN-210 75 19 8.8 3800 42 108 BS1875 25~254 33.6
BN-212 91 23 10.6 3000 55 140 BS2091 25~304 553
BN-215 1175 23 10.6 2500 72 190 BS2511 42~381 107

KEERBO'

EE
(kg)

SNDRRETI



HNRERS

B =sEnmnE-s
HOLLOW HIGH SPEED 4 JAW POWER CHUCK
BB RE ERTIMIAFMSEKERNEG.

ARZSEE = Ml ER &

HOLLOW HIGH SPEED 2 JAW POWER CHUCK
BB RE, ERTFINIAAMREKEMRNS

4 I 4
w Q
Iy K
g H
Q|
Q)
4 i g g 3l | P -
q S g
)
@ ==
[
kd 3
g‘é B BT-204,205 BT-206,208,210,212 =T 5 gé
4z Yz
.R DIMENSIONS C(H6) DIMENSIONS C(H8) .R
ﬁ (mm) | (mm) | (mm) mm) (mm) | (mm) |(mm) (mm (mm) | (mm) (mm) (mm) [ (mm) [ (mm) ﬁ
BT-204 110 4 70.6 3-M10 20.3~23 BH-206 165 81 140 5 116 104.8 4-M10x 1.5P 29.25~ 32
BT-205 135 110 4 82.6 4-M10 % 1.5P 23.8~26.5 BH-208 210 91 170 5 150 1334 2 4-M12x 1.75P 18 35~38.7
BT-206 165 81 140 5 116 104.8 45 6-M10x 1.5P 16 20 29.25~32 BH-210 254 100 220 5 190 1714 75 4-M16 x 2P 19 30 46.6~ 51
BT-208 210 91 170 5 150 1334 52 6-M12x1.75P 18 25 35~38.7 BH-212 304 110 220 6 190 1714 o1 4-M16x2P 25 30 56~61.3
BT-210 254 100 220 5 190 1714 75 6-M16x2P 19 30 46.6 ~51
BT-212 304 110 220 6 190 1714 91 6-M16x2P 25 30 56 ~61.3
DIMENS!ONS p Q R s T U v w X DIMENSIONS P Q R s T u v w X
m (mm) m m (mm) m ( (0 m
BT-204 6. 75 11.25 1 M32x1.5P BH-206 7= 24 =1~ 2 M55 x 2P
BT-205 6~19 (o)) 25 10 19 2 M40x15P 12 31 62 BH-208 10~ 30 =1:55 1145 35 14 20 2 M60 x 2P 30 38 95
BT-206 7~24 -1~11 31 12 19 2 M55 x 2P 20 37 73 BH-210 12~34 -10.5~8.5 40 16 25 2 M85 x 2P 40 43 110
BT-208 10~30 1.5~145 35 14 20 2 M60 x2P 30 38 95 BH-212 12~ 46 158 50 21 28 2 M100 x 2P 50 51 130
BT-210 12~34 -10.5~8.5 40 16 25 2 M85 x2P 40 43 110
BT-212 12~46 =15~8 50 21 28 2 M100x2P 50 51 130

DIMENSIONS rErE | BEE%E| Bx# % BE DIMENSIONS | gfgg | fEfjR MTE
Jaw Stroke | Max.Spee: . or Ma essure r\ppmg Range We» R+ Thru Plunger Strok
D\ameIeH (IAmm) | (min”) (Mpa) (mm) 1kg} panee (mm) (DIA.mm)

BT-204 i 8000 B ~110 BH-206 45 12 5.5 4500 16 M BS1246 X 22~165 14.2
BT-205 10 5.4 7000 11 23 BS1036 .8 1 0~135 6.5 BH-208 52 16 7.4 3600 24 59 BS1552 1.9 25~210 245
BT-206 45 12 5.5 6000 14 37 BS1246 1 .8 13~165 13 BH-210 75 19 8.8 3200 31 78 BS1875 2.0 26~254 38
BT-208 52 16 7.4 4800 22 56 BS1552 1.8 16=21011122.5 BH-212 91 23 10.6 2500 40 102 BS2091 2.0 35~304 60.5
BT-210 75 19 8.8 4200 27 73 BS1875 1.8 25~254 355

BT-212 91 23 10.6 3300 36 95 BS2091 1.8 25~304 52

KEERBO'



SDRRFETI

| BD AEEScER:SSE

HOLLOW LARGE THROUGH HOLE POWER CHUCK

HNRERS

RE kTR MGAEER

HOLLOW LONG STROKE 3 JAW POWER CHUCK

o BFLELEK, o RENPOEIEF MEIAITIEKR.
o ERAERTHATRSK o ESEERA
o IERERT AR
o BLTHYTIER K, REIEERI3ME
4 N o W I
l £
|
] =
2 =t =
L
= —— =
2 48 I -
Z e g "8
2 g 11
L
) o Enpep— =
L
K H-E =
B
Nes - = Ny -/ N4
DIMENSI(})_“NT?_ A B C(H6) E G H K M N DIMENSI(})ENT? A B K N j,l“,z
(mm) | (mm) | (mm) | (mm (mm) | (mm) |(mm) (mm) (mm) (mm) (mm) [ (mm) (mm) (mm) R
BD-206 168 81 140 5 116 104.8 45 6-M10 20 29.25~32 BL-206 165 87 3-M10 29.25~39.25 2
BD-208 210 91 170 5 150 1334 52 6-M12 25 35~38.7 BL-208 215 100 3-M12 40.5~53
BD-210 254 100 220 5 190 1714 75 6-M16 19 30 46.6 ~ 51 BL-210 254 117 3-M16 47.5~62.5
BD-212 304 110 220 6 190 171.4 91 6-M16 2> 30 56~61.3 BL-212 304 138 3-M16 57~745
BD-215 381 133 300 6 260 235 117.5 6-M20 28 43 77.4~82.7
BD-218 450 133 380 6 320.2 235 117.5 6-M20 30 43 76.7~82
BD-221 530 140 380 6 330.2 330.2 140 6-M22 31 60 93.2~985
BD-224 610 149 3 6 330.2 330.2 165 6-M22 32 60 102.7~108

DIMENSIONS
Rt

BD-206
BD-208
BD-210
BD-212
BD-215
BD-218
BD-221
BD-224

BD-206
BD-208
BD-210
BD-212
BD-215
BD-218
BD-221
BD-224

7~24
10~30
12~34
12~46
13~46
18.25~78
21.5~87

.25
.5

21.5~117.5

EHER
Thru-Hole

Diameter (mm)j
53

66

81
106
117.5
117.5
140
165

(mm)

19
23
23
23
23
23

=1~11
-1.5~145 35
-10.5~8.5 40
=15=8 50
-15~8 62
S22z 62
-12~11 65
-3~20

nirE(ER
Jaw Stroke
(DIA.mm)

8.8
10.6
10.6
10.6
10.6
10.6

65
BEEE
Max.Speed
n)

6000
5000
4500
3500
2200
1800
1500
1200

80
DIMENSi%NT? o P
(mm) (mm)

RAHA

lax.Pull Force

kgt (KN)

48.8
59
4l
7/l
89
89

n

thre

n

o
oo anNDNDND

M155 x 3P
M175 % 3P

BABXRES o
Gn:pmgFm BEBILS
KglkN) Matching Cyl

99

58.5 BS1246

BS1552
126 BS1875
153 BS2091
178 BS2511
178 BS2511
232 BS2511
232 BS2511

X QIMENSIONS o P Q R | s | T u v w X
(mm) (mm) (mm) | (mm) | (mm) | (mm) (mm) (mm) (mm) (mm)

0~15 31 12 24 2 M38x1.5 20 37 73

35 14 32 2 30 38 95

BL-206 9.25~16.75

38 95 BL-208 11.75~20.75 -16~3 M55x2

43 110 BL-210 11.25~26.25 6~28 40 16 40 2 M65x2 45 43 110
51 130 BL-212 12.75~38.25 -16.8~8.2 50 21 38 2 M75x2 50 51 130
66 165

66 165

66 180

74 180

DIMENSIONS | 7 i 2(ER)|RBERE Bih Bk oA w ™
OAmm) | (min") | kf (KN) Kgi(kn) | Melching Cynder ) (ko)

28 15 20 14

25 9 25

19~170 BL-206 4500 27.9 31.2 BS1246 28~165
23~210 23 BL-208 3300 4.1 4 BS1552 32~215
41~254 32 BL-210 53 22 30 3000 53.8 63 BS1875 42~254 45
47~315 52 BL-212 63 25 35 2200 69.3 80.4 BS2091 43~304 78
30~381 120

35~450 164

90~530 235

110~610 293

KEERBO'



HNRERS

SDRRFETI

hEATRE-MEERR QW sxmE=mnaEFs
HOLLOW LONG STROKE 2 JAW POWER CHUCK , SOLID HIGH SPEED 3 JAW POWER CHUCK
1. SEESBA S A A TN — R T B 08 A

2. TEERINTAR TR, RFR SRR MBI R EFS.

o BLTHZ M KITFRHER R SBLPE =N KITiEME
RRRIER;

o BLTTEHUTIZR K, BEEINI3ME s . I
4 . N
. 4 ¢ I
éér
=i =|
i T
u = g —— = - T B I
— =z [0}
q ] U KN-04, 05)
: g e[ Rl L
g | ——
— K,
®)
L (KN-04, 05)
IF|
- S P =2
DIMENSIONS
- : B C(He) =
A =GR EIE -
B
\ / KN-04 52 60 - 80 3-M8 12 14 20.1~233 N{.
KN-05 55 80 - 100 3-M8 14 14 272~304 EE
KN-06 74 140 116 104.8 6-M10 14 20 33.55~37.8 'l'I'L
DNENS'%NT? A B C(H6) E G H J K I M N KN-08 85 170 150 133.4 6-M12 18 25 41.9~46.3 R
(mm) | (mm) | (mm) | (mm) | (mm) | (mm) |(mm) (mm) (mm) | (mm) (mm) KN-10 89 220 190 1714 6-M16 20 30 47-514 =
BLT-206 165 87 140 5 116 1048 28  4-M10 16 20 29.25~39.25 el o A AL il - i
BLT-208 215 100 170 5 150 1334 45 4-M12 21 25 40.5~53 =1 1 3 Loy R
BLT-210 254 117 220 5 190 1714 53 4-M16 27 30 475~625 K15 450 4 300 260 235 5-M20 30 43 e
BLT-212 304 138 220 5 190 1714 63 4-M16 23 30 57~74.5 2y 250 e sl 3030 6-M20 31 60 2
KN-24 610 125 380 330.2 330.2 6-M20 31 60 117-~125

DIMENSIONS
R+ o P Q

E o \% w X KN-04 825~11.25  825~1125 23 100 25 3 MI0x15P 26 27 53
(mm) (mm) (mm) | (mm) | (mm) | (mm) (mm) (mm) (mm) (mm) KN-05 6.75~11.25 6.75~11.25 25 10.0 35 3 M12x1.75P 28 31 62

BLT-206  9.25~16.75  0~15 31 12 24 2  M3sx15 20 37 73 KNZ06 L2218 L5218 1 51201 5 [ S 162 2. 0P [ S+ S IS B v
BLT-208  11.75~20.75 -16~3 3 14 32 2 M55x2 30 38 95 Ki=08 9-225 9-225 g 180 d8 5 [M20x2SR S8 g2 %
BLT-210  11.25~2625  6~28 0 16 40 2 M65x2 45 43 110 o 101“:‘ - i;‘s 101":’ - i;'s e — ng : z:i -

i ~ - i x2.

Bll=212 12175286: 201 =186 2820 R0 A W75 50 L 130 KN-15 2325-4875 2325~48.75 62 255 55 2 M30x35P 60 62 165
KN-18 2325~48.75  23.25~48.75 62 255 55 2 M30 x 3.5P 60 62 165

KN-21 27.5~935 27.5~935 65 25.0 55 3 M30x3.5P 60 70 180

DIMENSIONS | 7|58 gEpane | BREAEN | s & KN-24 27.5~935 27.5~935 65 25.0 55 3 M30 x 3.5P 60 70 180

R | Thntoe =SS | MaxPressure | Gripping Range | Weight

Dimetr o) Kl | MG OV |y kg DIMENSIONS| ksl | TUTR(EE) | B # - "

) glon'(Npa) | (mm) 9 wEiE | NAEES | &S BRI et || e i
BLT-206 F BS1246 2.36 Rt P’“"?y:'ms)"m ':QD’I‘AS:Y'\?“")G Meze Pl Force e G"}‘f’s;”g Force | *yfatching Gylinder Giepbaanco Weigt (kg)

BLT-208 BS1552 2.08 32~215 24 KN-04 15 6.4 76 228 K-Y0815 8~110 441
BLT-210 BS1875 22  42~254 435 KN-05 15 6.4 78 24 K-Yo815  16~135 62
BLT-212 BS2091 2:2 43~304 75.5 KN-06 20 85 17 51 K-Y1020 19~ 165 13.0
KN-08 21 8.8 22 73 K-Y1225 23~210 25.0

KN-10 25 8.8 28 106 K-Y1225 24 ~ 254 37.0

KN-12 30 105 40 152 K-Y1530  26~304 57.3

KN-15 35 16 81 248 K-Y2035 72381 96.5

KN-18 35 16 81 248 K-Y2035  135~450 1245

KN-21 35 16 81 248 K-v2035  70~530 180

KN-24 35 16 81 248 K-v2035  152~610 223

KEERBO'



[
I
&q
4e
R
=

L A{FRESMHERR "
SOLID LONG STROKE 3 JAW POWER CHUCK
1. RENRK FREEER A ESTINIT AT LLRES
2. TEFEINTAE TS, RETER-RT BRI 5.

4 I

-

@A
QAC(6),
0c
Ol M
(WD)
NI
7

|
N

ov
=

u, m
L
[ I Ll_
K
S p e 3B
DMENSIONS | A B | CHe) | F G H K L M N
(mm) mm) (mm) | (mm) (mm) (mm) (mm) (mm) | (mm) (mm)
KL-06 165 74 140 5 116 104.8 6-M10 14 20 34~405
KL-08 210 85 170 5 150 133.4 6-M12 18 25 40~48.1
KL-10 254 89 220 5 190 171.4 6-M16 20 30 47 ~54.4
KL-12 304 106 220 6 190 171.4 6-M16 20 30 55.45~64.7
DINERSIONS o) P Q R|s | T u v w X
(mm) (mm) (mm) | (mm) | (mm) | (mm) (mm) (mm) | (mm) (mm)
KL-06 925~13.75 81.5~101.5 31 12 36 4 M16 x 2P 34 39 73
KL-08 11.75~20.75 106~131 35 14 36 5 M20 x 2.5P 38 41 95
KL-10 11.5~29.5 133~ 161 40 16 36 5 M20 x 2.5P 45 46 110
KL-12 23.25~475 133~163 50 18 36 5 M20 x 2.5P 50 54 130
DIMENSIONS | f#f7#z |MTR(ER)|BEBEEE| SXHih BABEEN | w ne | BBEREN | xiwE T |
R | Plunger Stroke| Jaw Stroke | Max.Speed | Max.Pull Force | Max GrippingForce M*“{ ¥ ﬁCIT;; Max.Pressure | Gripping Range | Weight
(mm) (©IAMm) | (min’) (KN) (KN) atching CYIncer | \pa) (mm) (k)
KL-06 20 13 4000 1.2 31.7 K-Y1020 1.9 22~165 125
KL-08 25 16.2 3500 15 45.8 K-Y1225 1.6 24~210 24
KL-10 28 18.1 3000 17.7 65.5 K-Y1225 1.9 27 ~254 35.5
KL-12 30 19.4 2000 25.2 94.5 K-Y1530 1.8 33~304 60.5

| KT KLT Bt v S5

SOLID HIGH SPEED 2 JAW POWER CHUCK LONG STROKE

1. REDNBA SFFEEBRAES TN LRSS L RES
2. TERINTAR) TR, REEE R -RTRDRIEFS.

HNRERS

( B W \
4=
s I ur-
i E
U
L
. L]
S P -+ KT-06, 08, 10, 12
e, o
DINENSIONS IR B | cHe) | F G H K L M N
(mm) (mm) (mm) | (mm) (mm) (mm) (mm) (mm) | (mm) (mm)

KT-04 110 52 60 6 - 80 4-M8 12 14 17.5~20.7
KT-05 135 55 80 7 = 100 4-M8 14 14 27.2~30.4
KT-06L 165 74 140 5 116 104.8 6-M10 14 20 33.5~40
KT-08L 210 85 170 5 150 133.4 6-M12 18 25 41.9~46.3
KT-10L 254 89 220 5 190 171.4 6-M16 20 30 47~51.4
KT-12 304 106 220 6 190 171.4 6-M16 20 30 55.45~60.7

DIMENSI%NT? o p

(mm) (mm)

KT-04 825~11.25 3~18 3 M10x1.5P

KT-05 6.75~11.25 659 25 10 35 3 Mi12x1.75P 28 32 62

KT-06L 7.5~18 81.5~101.5 31 12 36 4 M16 x 2P 34 39 73

KT-08L 9~225 106 ~127 35 14 36 5 M20 x 2.5P 38 41 95

KT-10L 10.5~37.5 133~158 40 16 36 5 M20 x 2.5P 45 46 110

KT-12 11~47 133~163 50 18 36 5 M20 x 2.5P 50 54 130

DIMENSIONS tETE EER) | BEEEE| 24hH B4y oz
R+ P\ung;;gtfoike Iv%i%({e Max.§ Ma?(i_lzixfliggrce Ma?gf\gzi‘tr?e R THS
(mm) (DIAmm) | (min”) (KN) (KN) tching Cylinde

6.4 5.2

6.4 5.4

REER

Max Pressure | Gripping Range
(Mpa) (mm)
1.7 5

KT-04 15 5500 13.8 K-Y0615 ~110

KT-05 15 5200 15.1 K-Y0815 117y 18~135 5.8

KT-06L 20 8.5 5000 11.2 31.7 K-Y1020 1.9 22~165 125
KT-08L 21 8.8 4000 15 45.8 K-Y1225 1.6 24~210 24

KT-10L 25 10.6 3500 17.7 65.5 K-Y1225 1.9 27~254 355
KT-12 30 12.8 3000 25.2 94.5 K-Y1530 1.8 33~304 605

KEERBO'

SHRRFETI



SDRRFETI

Y ERMDMEARER

HNRERS

KBL KBLT £:FSFi:a5:

(VERTICAL LATHE) LARGE POWER CHUCK %“‘ ULTRA LONG STROKE 3 JAW 2 JAW POWER CHUCK
-
o KV/A ERFIIRER \ e g o B—FRRRMRELRE,
N & y ° REIK, BEHERITIHE;
o IIEEHARRIUSEATERE, B5HIKER.
- R o KBLT ZMBAITEE KRB SKBL=TEBXTRERERIHER
T_“
‘ ] 4 W
s| -l ] P
g e | = |
A
N D e o
L | L | _
2 = ¢ " 11
< g g s fallxe 14
il Ol o e g
B . I s 2 =
Kv-15, 18/A11 Kv-21, 24, 28, 32, 36, 40/A15 il'— < |3\
\_ >, u &
=1 |
DIMENSIONS C(H6) M B i
(mm) (mm (mm) | (mm) | (mm) | (mm) [ (mm) (mm) | (mm) (mm) (mm) | (mm) R
KV-15/A11 43 ~-2 =
KV-18/A11 116 196 87 s 6—M16 6 M20 43 P 5
KV-21/A15 530 127 sso 3302 6 40 6-M16 330.2 35 6-M24 35 60 \_ Y,
KV-24/A15 610 127 380 3302 6 40 6-M16 3302 35 6-M24 29 60
KV-28/A15 700 127 380 3302 6 40 6-M16 3302 35 6-M24 29 60
KV-32/A15 800 127 380 3302 6 40 6-M16 3302 35 6-M24 29 60 DINENSIONS s J2(H9)| K1
KV-36/A15 914 127 350 3302 6 4o 6-M16  330.2 35 6-M24 29 so i || el o || il | e mm) aan| @ Ny ||
KV-40/A15 1000 127 3302 6 6-M16  330.2 6-M24
KBL-206 6-M10 104.8 60 20
DIVENSIONS KBL-208 215 170 6-M12 133.4 11.5
R s KBL-210 254 111 220 82 96 6-M12 20 1714 13 55 105 25
(mrn (mm) (mm) (mm) | (mm) | (mm KBL-212 304 130 220 92 102 6-M16 22 1714 15 62 110 30
KV-15/A11  69.5~77.5 23.2~48.7 445~79.5 255 60 5 KBL-220 170 158 6-M24 330.2 115
KV-18/A11 100~108 23.2~48.7 44.5~79.5 255 60 5
KV-21/A15 78~86 27.5~935 56~91 65 25 60 6 SR
KV-24/A15 78~86 27.5~93.5 56~91 65 25 60 6 () (mm
KV-28/A15 78~86 27.5~93.5 56~91 65 25 60 6 ()| () “""‘ {nm)fR(mi) ol (o) )N | om)i it m)
KV-32/A15 78~86 27.5~935 56~91 65 25 60 6 KBL-206 -2~18 238~39.8 9~30 3 M30 x 2
KV-36/A15 78~86 27.5~935 56~91 65 25 eo 6  M30 60 75 180 KBL-208 -4~21 25 338~538 10~35 5 5 55 M45 x 2 5
KV-40/A15 78~86 27.5~935 56 ~91 6 M30 180 KBL-210 12 -2~26 30 46.3~67.3 135~375 5 40 16 62 M65x2 45 110
KBL-212 14 -35~31.5 30 483~733 14~52 5 50 21 77 M72x2 53 130
HETRE

DIMENSIONS
R+

KV-15/A11
KV-18/A11
KV-21/A15
KV-24/A15
KV-28/A15
KV-32/A15
KV-36/A15
KV-40/A15

Plunger Stroke | Jaw Stroke

MAR(ER)| R B EEE
(DIA.mm) (min” )

(mm)

35

35

35
35

2900
2600
1800
1700
1200
1100
1000
800

82
82
82
82
82
82

Max. Speed Max.Pull Force

BRI RABEHEN
Max.Gripping Force
(YY) ()
247

272
272
272
272
272
272

B 513 S i KBL-220 60 98 ~ 123 23~58 65 25 M130x2 70 180
EE Max P@SSU’e Gn in Ran e| Weight
Matching Cylinder pp 9 \ 9 (kgg)

DIMENSIONS | fgf7i2 |MTE(ER)|BRBE

B-R2035 72 381 132 Rt Plﬁg%fgt?;(e njgfisr%fe Max, s;fséé Mo 31.*(33@ i é‘nEnﬁﬁi’e RRRALS ||y 5?;5?2 Grop Range o
B-R2035 133~450 170 ) | ©Amm) | (min (KN) (kN) | Maihing Cyinder| ™y o) (kg
::2282: g; 16522 -563100 :;g KBL-206 20 32 K-Y1020 2 55 10~165 11.5
S N S KBL-208 25 40 3000 31 4 27 5 K-Y1225 28~210 2356
B B b o pC KBL-210 28 42 2400 37.3 343 K-Y1225 2.8 42~254 345
SAaac R s s e KBL-212 35 50 2100 49 48 K-Y1530 238 54~304  60.8

i KBL-220 35 70 1200 70 200 B-R2035 2.8  120~500 220

B-R2035 3.2 560~1000 770

KEERBO'



| KNT A== €385

SOLID 2&3 JAW SHARED POWER CHUCK
o AR —EBFREZ=ZMYIHK, REVKHHEE
BEFRMBRAS, AIRFHEHREAIG

4 W 7\
T‘ L] i:ﬁ;
i P Q |
— 2
= E
&
BH
4z
R
7 o i
DIMENSIONS C(H7)
(mm) | (mm) (mm (mm) | (mm) | (mm) mm) mm) (mm) (mm) (mm) mm)

KNT-08 210 M10 1334 112

DIMENSIONS U HEFE |TEER)
Plunger Stroke | Jaw Stroke

(mm)| (mm) (mm) mm) (mm (mm) (mm) (mm) (DIA.mm)

31 M20 18 8.3

82~30 32 ~50 92.5 40~50.15

Weight

DIMENSIONS BEERE| SiHH pEpgne | BREREN
Max.. Speed Max.Pull Force Max anpmgForce Mnt h', ch Max.Pressure

(min™") KN (KN) BENG Sy e (Mpa)

2.5

KNT-08 3000 K-Y1225

30~ 210

KTT(2+2) &ksuleeepak:l: 55"

SOLID DOUBLE CLAMPING 4 JAW POWER CHUCK
o ATFINTESHESET 4 AE D

o REDKBE

1SR YIS

© 24202 B A AN I L A RLAF R B IR Al
KTT-AH 85 2 M ELIR ), 38 # BN IR,
KTT-B B 3 2 il IR 5.

bl

RERY

N

=

B

.
DIMENSIONS C(H7) J K
(mm) | (mm) (mm (mm) [ (mm) (mm) (mm) (mm) [ (mm) | (mm) | (mm) | (mm)
16

KTT-08A 87~106 12
KTT-08B 210 170 42~61 8.5~27.5 133 4 12
KTT-10A 254 1 05 220 61 58 75~99 - 1714 1 02 60 16 16
KTT-10B 254 105 220 61 78 47~71 8~32 1714 102 60 16 16
KTT-12A 304 mnm 300 61 46 103~127 - 235 100 60 20 20
KTT-12B 304 11 300 61 58 46~70 =3 235 100 60 20 20
KTT-15A 381 116 300 71 46 113~143 = 235 150 80 20 20
KTT-15B 381 116 56~ 86 18~48 150

DIMENSIONS
mm

KTT-08A
KTT-08B
KTT-10A
KTT-10B
KTT-12A
KTT-12B
KTT-15A
KTT-15B

E DIMENSIONS

KTT-08A
KTT-08B
KTT-10A
KTT-10B
KTT-12A
KTT-12B
KTT-15A
KTT-15B

16

16

22 30 30

22 30 30

20 39 30

20 39 30

25 39 30

HETE

Plunger Stroke| Jaw Stroke

(mm)
19 8.7
19 8.7
24 11
24 1
24 11
24 11
30 13.8
30 13.8

M1O
M10
M10
M10
M16
M16

35
31
40
36

45

40
40
50
50
50

35~39.35
35~39.35
46.5~52
46.5~52
70.8~76.3
70.8~76.3
75.4~83
75.4~83

60
60
60
60
60

- SB
22 88
= 103
27 103
- 135
31 135

14
65

77
22
90

43 110
43 110
51
51
63

B-R1225
B-R122525
B-R1225
B-R122525
B-R1225

B-R122525
B-R1530

B-R153030

M38 X 1 5
M24
M50% 1.5
M24
M56 % 2.0
M24
M56 x 2.0

NTR(ER) BAH BAHN BAXSS | BAELS | pruews | BRERES
Max.Pull Force |Max.Pull Force | Max.Gripping Force) Max.Gripping Forcel Matching Cyiind Max.Pressure
(DIAmm) 1KNH 3w | (KN)2-4Jaw 1KNH -3 Ja 1KN)2 -4y | iatching Lylinder (Mpal

2
2.2
2
2.2
2
22

-
Weight
(kg)
23

R1/R2 ]
(mm) [ (mm), (mm) [ (mm) (mm) (mm) ((mm)| (mm) | (mm) (mm) (mm)

M16

M20

M20

M20

35
35
58
51
110
110

KEERBO'

SHRRFETI



SRR RS

B =miirizanks
3 JAW LEVERAGE SWING LOCK CHUCK
EHFHRRIFEERT HETMRE BaMEFHTE HIsE 51 S
oHEMITEAHFE,
e EH MM TRREN;
oS ENBETIX: 0.02mm.

a

b A

@ C (1H6)

s

’ Y,
DlMENSI%NT? bA B $C D E = G K L
@m | m | om | em | @m | em | @m) | om) | (mm)
200 96 170 8 21 5 16

KF -08 133.4 6-M12
KF -10 254 113 220 10 25 5 171.4 6-M16 20

DIMENSIONS M - - - - . = i "
(mm) (mm) (mm) (mm) | (mm) | (mm) (mm) (mm) (mm)
35 14 37 30 M16

KF -08 25 38.2~44.2 11~24 32~44
KF -10 30 46.1~52.1  17~41 32~44 40 16 35 35 M20

DIMENSIONS|IE o HFEE | HEeE |(MGRER) BEOEE| BXHN | RABXES | EERILS | =8
= Gripping Range| Plunger Stroke | Jaw Stroke | Max.Speed | Max.Pull Force| MaxGripping Force | yfatching Cylinder | Weight

(mm) (mm) (mm) (DIAmm) | (min’) (KN) (KN) (kg)

5 2 9.5 3000 23 6 22

KF -08 9 $30~ ¢$200 1 5 B-R1225
KF -10 10 $35~ $255 12 127 2500 35 88 B-R1225 39.5

REXRRERS

LN LT el sl

HOLLOW POWER CHUCK FIXTURES

o TR, SR, WANLIRMNIHOFNEERNSERE
o ERMBNESEERSE. KiHNEML, RRFER.

o LTIERTHEMFEMINT, TIFRIERLN

OC(HT)

—|—|—‘=!=’ VT e,

[

e P

e D R S A A e N
mm) | (mm) | mm) [ mm)| mm) | mm) | (mm) | mm) [ mm) | (mm) (mm) (mm) 28
LN-04 148 110 20 15 %0 117 27 53 14 130£02 M8x1.25P — ar
LN-06 203 165 25 15 95 131 36 72 20  185:02 M10x15P 3-M8x1.25P R
LN-08 248 210 36 15 106 148 42 95 25 230+02 M10x1.5P 3-M8x1.25P ‘E
LN-10 300 254 50 16 110 156 46 110 30  280+0.2 M12x1.75P 3-M10x15P ®
DIMENSIONS SI(EB o B *
(DIA.mm) kgf(KN) kgf/cm*(Mpa) i
LN-04 - 10 52 765(7.5) 110 15 7(0.7) 7.4
LN-06 3-M8 x 1.25P 12 52 2140(21) 165 23 7(0.7) 16.0
LN-08 3-M8x 1.25P 14 6.3 3365(33) 210 30 7(0.7) 27.8
LN-10 3-M10x 1.5P 16 6.3 2400(24) 254 50 7(0.7) 425

KEERBO'



AR

RERERS. HEER

HOLLOW POWER CHUCK FIXTURE

o REMPOBIRTL;

o EMAR. $RR. MENURINIHOFEELSERE, <2
EN—RRETE L, TSR

o ARASEEGHE;

o FERRNEEERE—E

R

| LY AvEg:

VERTICAL CYLINDER
o FREBIFR. FER. WML INT HOEEETHEL
o FIRASEHE.

&D5
|
@?Z
=]
ﬁ D3
@D2
dD1

L

RERY

4 . « N\
T G 6-M 30°
4-0 Sl B I e S Y
= : RN
EE: o f \
® »J }
I ARt \50°
;
< o '
< I | T _?_ - /’_ N <
N I DN !
IR RN~ o= SN
© 'ﬁ/ ,L 45 °
+ c &3-21 3
“ % &.3-72 p
) =B
1 ¢
Dj |15 2-PT1/4 I:j“
9 - . J
DIMENSIONS J
mm mm mm mm mm) mm mm mm
LB-205 165
LB-206 168 118 158 202
LB-208 270 210 52 17 130 169 39 95 25 243
LB-210 315 254 75 19 146 190 44 110 so 285
LB-212 170 130

DIMENSIONS
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)

LB-205
LB-206 M10
LB-208 35 18 M10
LB-210 40 18 M12
LB-212 M12
EEWR | HEGE | MFEER)
Piston area | Plunger Stroke|  Jaw Stroke
h iR W S
LB-205 5.4
LB-206 5.5
LB-208 156 16 7.4
LB-210 243 19 8.8
LB-212 302 23 10.6

4-013
4-@13
BRABXHAN
Max.Gripping Force
kgf(KN)
32.2

49.4
79.4

120.9
152

anpmg Range
(mm)

12~135
15~168
20~210
33~254
40~ 304

E
Max.Hydr.Fressure

(Mpa)

M10 M10
M12 M12
M12 M12

ZERSES
Gripping Force
At Air Pressure

(0.7Mpa) (KN)
12.7 11.2
19.6 20.5
32.3 36
47 55
53.4 87

DIMENSI%NT?_ 1 D2(H7)
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
140

LY1415 165 M16 104.8
LY1820 210 170 M18 248 133.4
LY2225 254 220 M22 300 171.4

DIMENSIONS D10
meI mm mm fTIIT\ mm mel) mm mm

LY1415
LY1820
LY2225

DIMENSIONS
R+

LB-205
LB-206
LB-208

-7~8
-9~11

-10~10

20.8
37.7

230
280

21 5
28.5

MERKIEN
Max.Permissible input

20.1
36.5

AR

70

M10 M10
M10 M12
M12 M16 100 5.5 15
EETRR BEEREN SERKEN
Piston Stroke Max Pressure (Mpa) | Max.Permissible input
,mEou #EPush(KN) Pull KN) | #EPush(KN) [ HPull(KN)
8.5
0.7 1.5 15.1 14.6
20 0.7 15 21.4 20.8

53.6

51.9

31

KEERBO'



R R R RS

RIS, HEER
PIN ARBOR TYPE POWER CHUCK FIXTURE

o RHEFRIRIT, AINTIHEAT SEEFEEES;

o JEFEAAR. HEPR. EANLARIN TR OEEERNSERE;
o TSRS EHE.

b A

DIMENSI%NT)S* A B C(H7) D = F G H | K
Qﬁ (mm) (mm) (mm) ()] (mm) (mm) (mm) (mm) (mm) ()]
'l'lL LU-04 148 85.5 32 108  3x2-M5 15 130 103 0.75~2.25 755
ﬁ LU-06 203 104.5 35 165 3x2-M6 15 185 136.5 1.25~3.75 103
E LU-08 248 118.5 55 210  3x2-M6 15 230 155.5 1.25~3.75 1255
T’
DIMENSIONS HETE TTR(ER)
Rt M N P z1 22 Z3(H7) Plunger Stroke Jaw Stroke
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (DIA.mm)
LU-04 40.5 20 1~7 M8 %9 $10 3 6
LU-06 59.5 30 5=15 M10 ¢ 11 $10
LU-08 74.5 35 7~17 M10 ¢ 11 $10 5 10
SERAEHFN HER KT SEEANE 5 - =
Q Max.Gripping Force Air Max.Gn;)mg Force Oll En@ﬁmﬁﬁ REERNEN FiFBE i
0.6Mpa Prossure(1.3Mpa) | Max.Permissible Press | yin Permissile Press | Gripping Range | Weight
HTSoft jaw(KN) | EIHard(KN) | S/TSoftjaw(kN) | EMHard(KN) | SAir(Mpa) [ #0l(Mpa) (Mpa) (mm) (k)
LU-04 6.7 7.4 16 17.4 0.7 1.3 0.2 4~60 7.4
LU-06 18.5 22 40 45 0.7 1.3 0.2 7= 100) 18
LU-08 37 44 80 84 0.7 1.3 0.2 7~130 33

REARES. HEER

INSIDE PIN ARBOR POWER CHUCK

o 1LUERRIRXMIES. HEREEEEPUENERESLYZUHTE
3R,

2EETEHR. SRS IAOENFR, ERAE, RIHEL, <%
[EEEZSIY

3LUERER RIS, HERRISIERTHEEER HTEERER
KT,

AT T2 BLA HAG RS, AXRINTEETIE.

4 N

= 2-PT1/4

N

v
IMENSI)%'ETS QA B C D I G H K N Z1 Z2 Z35%
(mm) | (mm) | (mm) | (mm) [ (mm) [ (mm) [(mm)|(mm)| (mm) [(mm)]|(mm)| (mm)
165 110 135 15 145 136 75 24 M8 $9 $10

LUE-05 PT1/8
LUE-06 203 122 PT1/8 165 15 185 157 103 31 M10  ¢11 $10
LUE-08 248 144.5 PT1/8 215 15 230 1745 125 36 M10  ¢11 $10

RIKENSIONS e | TR BABRE N BEEAEN | BEE
R ;éf;;inf] %%nng (Eféa)E Max.Gripping Force (kgf) Max.Pressure(Mpa) BEH R
Range stroke £ = Min. Weight
- i (DSI:(:rliem] P[eMS;;e -
0.7 1.3

LUE-05 65~80 6 2.8 1300 3000 0.2 12
LUE-06 70~105 10 4.6 1700 3500 0.7 1.3 0.2 21
LUE-08 95~155 10 4.6 3500 7500 0.7 1.3 0.2 38.5

KEERBO'



AR

AEXERS. BEES

PULL BACK TYPE POWER CHUCK FIXTURE

* ERTNTIEEESHIEEERNIH,

o JBEFIThAR. AR

o FIRASEIHE.

BENARIN TP OEEERNSERE

(218

LA
.

[%):]

R

59

P

BIFE

R

2-PT1/4 4

15
o XY
A\
2 \ 30"
/ot
Q1
7
Q2 15"
il
SN 15
H'liur f'
,-:c'x:ur, |  PTI/8
50

LBU-05
LBU-06
LBU-08
LBU-10
LBU-12

185
203
248
300
350

1 35
165
210
254
304

100

50 15 120
65 15 135
18 155

180

LBU 05 44 3 472

LBU-06 54.8~584 M10 ¢11 35

LBU-08 67.2~70.8 M10 ¢ 11 45

LBU-10 79.6~85 M12 $13 55

LBU-12 96.6~102 M16 $17 70

!w SERAKSN S A S 1
Max.Gripping Force Max.Gripping Force Oil
Pressure(0.6Mpa) Pressure(1.3Mpa)

(KN)

LBU-04 6.7

LBU-05 1"

LBU-06 18

LBU-08 285

LBU-10 37

LBU-12 37

28 36
35~45
46~56
50~65
55~70

DIMENSIONS 1712
Q1 Q@ Plunger Stroke
mm) mm) (mm) (mm (mm) | (mm) | (mm) (mm)
8
MB

20 M6
25 M8
35 M8

%Hﬁﬁﬁ’]&i}

35
FHEE 5
Max.Permissible Press | vin Pemissible Press anp\ng Hange Weight
~ o (ko)

£ Air(Mpa) | i#0il(Mpa) (Mpa)
7

165

185 70 24
230 84 18
280 100 24
320 120

HETE

M6 10
M8 10
M8

M10
REERNEN

DIMENSIONS
mm mm mm mm mm mm mm mm mm mm
L|

= 35
26 40
32 50

TR (ER)
Jaw Stroke
(DIA.mm)
5.8

R R R RS

KW-L &g ig s

AEREHEEER

BUE-L &=t a5t

|
4e
iG]
=
T’

PUE-L g telentoass

CHUCK - L EEESL 3535

0. 1.3 15~110

0.7 1.3 23~135 12.5
0.7 1.3 0.2 30~ 165 21
0.7 1.3 0.2 40~ 210 37
0.7 1.3 0.2 50~ 254 63
0.7 1.3 0:2 50~ 304 96

*BEFESIXHIL(RRNBTREASELHEARNBESRASHER

KEERBO'



[SpEgrd e

W +=aEmEs
HOLLOW HYDRAULIC ROTARY CYLINDER
XR—-FEEBl e, RETSELHRE, NHILFENENRATR; ERE,

REEEEY; BALA, REMREZEN; BEFREEMERAGERETEE
(RHBIER, Rk, EFANTF).

| BSS AEEcRg:ankTa

HOLLOW HYDRAULIC SHORT-INCH ROTARY CYLINDER

1 XR—MERBILEEE, RETBESHE, MHILEERENRRTE;
CERR, geEE;

3BILK, BEEAEZEM;

4 REFRRREMERAHIEREEE (LMBER, SRR, DRARE).

- N ( )
v y
i1
e
f il
H S
_\/
=
H H BSS1246, 1452 BSS1775
N P
DIMENSIONS | At
R¥ | (m
QIVENSIO) BSS1246 85 150 795 25 M6x6 MI0x20 84 98 50 76 4
BSS1452 90 120 80 30 M6x6 MI0x20 93 110 8 47 15 55 85 4
BS1036 110 1200 25 M4 12-M10 127 88 68 15 38 64 4 M5 BSS1775 175 180 990 35  M6x6 M10x20 110 155 100 47 15 80 108 4
BS1246 115 1265 30 M6  12-M10 134 98 76 15 50 76 4 M5
BS1552 120 1360 30 M6 12-M10 145 110 87 15 55 85 4 M6 DIMENSIONS
BS1875 175 1545 35 M6  12-M10 162 155 101 15 80 108 4 M6
BSS1246 575 M52x1.5P M8 x 1.25
DIMENSIONS R1 W1
R+ BSS1452 12 184 66 Ms8x15P 56 29  M8x125 180 165 140
(m (mm) ) (mm)
BSS1775 12 216 71 M84x20P 81 33  MI0x15 212 195 160
BS1036 5 PT38 6 154 Md44x15P 42 136 115 100 65 48  M42x15P
BS1246 6 PTI2 6 170 M52x15P 50 155 130 100 80 65  MS5x20P DIVENSIONS | £
BS1552 7 PTH2 6 210 Ms8x15P 56 190 170 130 8 70  MBOx2.0P R (m
BS1875 7 PTIR 4 235 MB4x20P 81 215 190 160 125 95 M85x20P 75 EEn 75
BSS1452 80 -3
DIMENSIONS K B V max. | V min. mas 105 3
= Rt ol G n (om) | (mm) | (mm) Bl ) =
(2 4
I BS1036 3 446 535 73 78 104 115 1765 10 -5 39 &
H BS1246 3 529 64 85 90 16 115 184 10 -5 40 DIMENSIONS |\ max. | min. EETR | oy o) | REERE | gy R BREREN | gg H
ay Rt () | (mm) Piston Stoke | “ipj | MaxSpeed | e ey | Ol Leakage Rate MaxPressure | ooy iy
b4 BS1552 36 59.6 73 96 102 135 130 196 17 -5 47 (mm) (min™) (Unmin) kgflom’(Mpa) gt(g I3
% BS1875 3% 86 @8 A 13 1% 180 20 20 £ 50 BSS1246 a2 128 8000 0017 3 4466 3967 459 82 =
i T o e F—— BSS1452 a7 25 8 2 145 6500  0.031 39 5761 5313 459 130 1%
R | BEEEE R ; " BEERE
e R | BEOR | mame) Eﬁ;@peed e (o wE " o At BSS1775 5 25 8 25 170 5500  0.061 42 7209 6587 459 185 [
(DIAmm) GD(kg.m’) g SR Weigt (kg)
(mm) (min”) ) kgt/em?(Mpa)
BS1036 | 68  245(500) 23504000 40 (39) 100
BS1246 7000 0019 30 100 89  360(3700) 31532000 40 (39) 130
BS1552 6200 0.053 39 160 150  57.0(5800) 54(8500) 40 (3.9) 185
BS1875 4700 0.096 42 198 183 7107200) 66(6700) 40 (3.9)  26.0

KEERBO'



=
]
H
w
B
1%
e

PS03 FE Bl 55 5T

SOLID HYDRAULIC ROTARY CYLINDER

o (AASMIINEIMEIE BEEIVESREEIR AT/ EEiER
A, AT AR R EAIRR B SRR U T3 e

AR Y

K P
L M 16,
15 N Q
- — &
T~ — 5[ g g H g
Ul : )
|
I “ H
T
45
R
DIMENSIONS G(H8) H N
K-Y0815 165  Mi6x2P 30 175 102 74 119
K-y1020 100 20 135 100 80 25 16.5 M16 x 2P 35 191 102 89 134
K-Y1225 125 25 160 130 110 35 250  M24x3P 44 198 102 % 141
K-Y1530 150 30 190 130 110 45 31.0 M30x35P 45 207 102 105 150
K-Y2035 200 35 245 145 120 55 370  M36x4P 60 282 102 130 175
DIMENSIONS i
R Pmax. il We';m
(mm) (mm) (K
K-Y0815 45 30 6-M8 164  2-PT3)8 15 6000 0010 08 48 43 35@34) 35
K-y1020 45 25 6-M10 179 2-PT3%8 20 5500 0040 08 75 68 40(39) 50
K-Y1225 50 25 12-M12 186  2-PT3/8 25 5500 0.080 08 119 110 4039) 68
K-Y1530 55 25 12-M12 195 2-PT3/8 30 4000 0.180 08 173 157 40(39)  10.0
K-Y2035 70 35 12-M16 220  2-PTi/2 35 4000 0380 08 310 286 40(39) 195

| B-R A:ig:t3pkdkanlia

CLOSED CENTER ROTATING HYDRAULIC CYLINDER
WITH SAFETY DEVICE

o REANEEIL CEE T =&ML LSRR ENZRAT
K FEES M TRITSEE.

BRI RS

K 3
L M 5
11 N
A:fL
aprass || B 7R
J
2-M5 X 10 s
[ 2 =
O A IR | N R o
g g g o 8
3 e
= = = o
3 o H
B 3
g
N2:M5 X 10

DIMENSIONS
R~
mm;

B-R0715 75 15 104 90 M20 x 2.5P
B-R1020 105 20 135 100 80 30 21 M20 x 2.5P
B-R1225 125 25 160 130 110 35 25 M24 x 3.0P
B-R1530 150 30 190 130 110 45 31 M30 x 3.5P
B-R2035 200 35 245 145 120 55 37 M36 x 4.0P

Pul

B-R0715 31 6-M6x20 133 15 6000  0.003 16.6(1693) 139(1417)
B-R1020 25 6-M10x20 158 20 6000 0.013 32(3263)  29(2967)
B-R1225 51 26 6-M12x24 166 25 6000 0.023 46(4691)  42(4283)
B-R1530 56 26 12-M12x24 175 30 5500 0.048 66(6730) 60(6118)
B-R2035 69 34 12-M16x30 189 35 5500  0.098 117(11930) 108(11013)

0.8
0.8
0.8
0.8
0.8

172 106
197 108
205 108
214 108
228 106

40.8(4.0)
40.8(4.0)
40.8(4.0)
40.8(4.0)
40.8(4.0)

66
89
97
106
122

44 37
86 79
224 IS
176 160
314 290

127
152
160
169
183

10.0
135
220

KEERBO'

=
&
H
o
H
1
e




=
]
H
w
B
1%
e

| B-RE AiELEs: A0t

CLOSED CENTER ROTATING HYDRAULIC CYLINDER
WITH SAFETY DEVICE AND STROKE CONTROL

o BEMENBIPILHERLEL, CRE T miRisy A
1, LABG LE{=EB AT FE OS8R T b K FANER R ER 0 o
TRE SR, 4
N/
/ =Y
e I y

B-0715RE M20 x 2.5P
B-1020RE 105 20 135 100 80 30 21 M20x25P
B-1225RE 125 25 160 130 110 35 25 M24x3.0P
B-1530RE 150 30 190 130 110 45 31  M30x3.5P 45 269 163 106 169 56 26
B-2035RE 200 35 245 145 120 55 37 M36x40P 60 288 166 122 183 69 34

B-0715RE 6-M6 x 20 183 23 41 15 6000 0.003 16.6(1693) 139(1417) 0.8  40.8(4.0) 42 37 45
B-1020RE 6-M10x20 158 23 41 20 6000 0.013 32(3263)  29(2957) 0.8 40.8(4.0) 84 79 76
B-1225RE 6-M12x24 166 23 41 25 6000 0.023 46(4691)  42(4283) 0.8 40.8(4.0) 120 113 105
B-1530RE 12-M12x24 175 23 4 30 5500  0.048 66(6730)  60(6118) 0.8  40.8(4.0) 174 160 14.0
B-2035RE 12-M16x30 189 28 46 35 5500  0.098 117(11930) 108(11013) 0.8 40.8(4.0) 312 290 225

BRI RS

| NW-R,ER &5+ FqnE T

SOLID DOULE-PISTON HYDRAULIC ROTARY CYLINDER

NW-R 4

= N [ s 7
™ ‘
lE7 |
g1 | i :
R 5 —a B%Dr
NW-RE ‘ £ =
M P2

H 2-PT3/8 2

oD

,.
|
28
.
|
.
I
.
|
:
|
|
.
a8
!
e
T
o1 |
OF2
OE (h7)
|
K
|

PT1/4 {1J1 |

|
i |
|
|

/

DIMENSIONS
R~
m,

NW-R1220 160 130 100 25

1m: P2max [ P1min [ P2 mi
m (mm) (mm) (mm]
61 41 36 16

M38x1.5p 35 3 276 168

NW-R1225 174 145 110 29 M42x15p 35 35 286 178 56 31 36 1 247
NW-RE1220 160 130 100 25 M38x1.5p 35 35 331 168 61 M 36 16 237
NW-RE1225 174 145 110 29 M42x1.5p 35 35 341 178 56 31 36 11 247
DIMENSIONS | jZf7#2 | BEmits |BAH(H)/IMaxOperating Force| EZEER Piston Area(om’) b 4 y . | BEEAEA -
Piston Stroke | Max.Speed (kg (kgD Ol Leakage Rate ‘?}fﬁf’ NEiR e Wiﬁkg.
) piy) { i) | S
NW-R1220 3300 3100 126 113 0.043 30.5 15.0
NW-R1225 3300 3100 126 113 0.044 30.5 155
NW-RE1220 3200 3100 123 113 0.044 30.5 16.0
NW-RE1225 3200 3100 123 113 0.045 30.5 16.5

KEERBO'

=
&
H
w
B
i)
e




BRI RS

BN Y WEEEES)AEISPEEEEL
SOLID DOULE-PISTON HYDRAULIC
ROTARY CYLINDER(AIR INJECTION)

IEEGY @iikeids) hmEESSE

SOLID HYDRAULIC ROTARY
CYLINDER(WATER/AIR INJECTION)

4 ) s 7
: L ¥ 5
o iils ‘ A
12
/t ] H2
AB 2-PT3/8
_______ J
H=f== ,,ﬁf 7777777 — r@i’\ gl %n —1s §|
gls D Bl
Iy = —-O\l— ffffff S —d5g '
T1/8 A_e E
= o
PT1/4 5 -2 W
T1/4 _
P2 {_
] 4 P1
K P
X v N J

et .
o DIMENSIONS B D E(H7) F G(H8) H J S
m‘ (mm) | (m (mm mm) m) (mm, (mm) m (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
52 140 50 30 80 52 75 6 104 % 65 30 21 32 194 66

KY-RE123050

170 100 30 M24x15P M2x15P 26 B-RH0706 M20 % 2.5P
B-RH1020 105 20 135 100 80 30 21 M20x25P 35 243 89
B-RH1225 125 25 160 130 1o 3 2% M24x30P 44 251 97
B-RH1530 150 30 190 130 1o 4 31 M3Ox35P 45 260 106
DMENSIONS |, | | e | ot | pomax | pomin | @ | GEEGE | GEONE | BEEAEN| gg B-RH2035 200 35 245 145 120 55 a7 M36x40P 60 274 122
@m) | mm) | mm) | @m) | mm) | @@m) | m) |PistonStoke P'S“?r:vi‘)mke M":fmsnpie“ ”:;‘;’7;;:: Weigt (g)
= KY-RE123050 4 234 455 45 30 0 6MO 50 30 40840 195 Operaing » =
& &
= B-RH0706 a7 31 6-M6 =
114 . R . B-RH1020 4 2% 6-Mi0 e
1 i ROUXHREE AL A LRIEE FERIETIRITES. B-RH1225 51 % 6Mi2 ]
] B-RH1530 56 % 12-M12 ; 1
I B-RH2035 69 34 12-M16 35 5000 0008 117 07 40 314 200 220 IIE

KEERBO'




RS

| KB-A M [ M-U &2

ADAPTOR PLATES STANDARD SOFT BLANK JAW
E1ATERRE-STMORTSFROERIIFERMNNE; E2RE3MATEERE e
(B/NIER ) -SEMART 5 FENEERFRITRHMNZ, ﬁ 2

A

rs
70 7 30— 7° 730 W
7° 730
c-1 o & 1.5
= = =lels | S
2 2
g 4 8 S 2 < 3 = /f |
< =4
C-6_, C-T c-8 0.25
o - T
7 & |
L 7
B e
E E = o b
- B e
1 (Fig. 1) K1 (Fig.2) 1 (Fig.3) . o Hii
N J -9

i ' A

DIMENSIONS DIMENSIONS ( EHHREE
KB005A04 A4 80 826 — 6351 9 — — E1(Fig.1) 0.55 M-Uo4 5 9 14 30 135 9 14 M8 3  1.5x60°
KB006A04 A4 140 1048 826 63.51 11 M10 20 — E1(Fig.2) 1.60 M-U05 5 9 14 39 13.5 9 21 M8 5  15x60°
KB00BA0S A5 140 1048 - 82.56 1 — 15 — B1(Fig.1) 1.00 M-U06 5 15 20 38 17 1 28 M10 14 15x60°
KBOO6AO6 A6 140 1048 1334 106.38 13 M10 30 165 BE1(Fig.3) 3.50 M-Uo8 5 25 25 46 19 13 22 Mi2 16 1.5x60°
KB008AOS A5 170 1334 1048 82.56 1 Mi2 24 - E1(Fig.2) 2.70 M-U1o 110 40 42 16 5 3 3 50 19 13 27 M2 18 1.5x60°
KBO08A06 A6 170 133.4 — 106.38 13 — 17 — E1(Fig.1) 150 M-U12 130 50 50 21 5 39 30 61 25 17 30 M16 23  1.5x60°
KB00BA08 A8 170 1334 1714 139.72 17 Mi12 40 210 E1(Fig.3) 6.20 M-U12-1 130 50 5 18 5 39 30 61 23 15 30 M14 23 15x60°
KB010A06 A6 220 1714 1334 106.38 13 Mi6 28 — B1(Fig.2) 3.00 M-U15 165 62 62 22 8 37 43 85 32 21 38 M20 - 15x60°
KB0O10A08 A8 220 171.4 = 139.72 17 — 18 = E1(Fig.1) 270 M-U15-1 165 62 62 255 5 37 43 85 32 21 38 M20 - 1.5x 60°
KBO15A08 A8 300 235 1714 139.72 17 M20 22 — E1(Fig.2) 8.50 M-U24-1 180 65 70 25 9 40 60 80 32 21 45 M20 - 3.0x60°
KBO15A11 A1l 300 235 - 196.87 21 — 22 — E1(Fig.1) 6.50
KBO15A15 A15 300 235 3302 285.78 25 M20 50 380 [&1(Fig.3) 22.00
KB021A08 A8 380 3302 1714 139.72 17 M22 27, — E1(Fig.2) 21.00
KB021A11 A1 380 3302 235 196.87 21 M22 27 — E1(Fig.2) 18.00
KB021A15 A15 380 3302 - 285.78 23 - 27 — E1(Fig.1) 10.00
KB021A20 A20 380 3302 4636 41278 27 M22 58 520 [E1(Fig.3) 55.00

KEERBO'



RS

:ETY Gzt -ksmERm | K-W GRSk

SOFT JAW FOR PULL BACK CHUCK SOFT JAW FOR SWING LOCK CHUCK

7~ % e N
e 5
M
H1 (Fig. 1) = M2 (Fig. 2)
C6 C7 c2
s L« ci1

8

c3

T |
_ll’lTl lJ:Ei%‘J | c6, C7 c2

:
L £
8 C5(h8) ©4 (H8)

|

|

I
Lr I“H

Fa
C3
C8
[n
s
— T T ]
-

4 0
, T 9
R4 ™ -
C4H7)
DIMENSI%NQS‘ & cat® | cste | cg :i;} N Nt /
(mm) (mm) | (mm) | (mm (kg) |
B-U04 50 8 8 17 0.56 figl DIMENSION:
B-U05 56 8 8 20 0.82 figl Rs| €1 cat® | crihl
B-U06 70 10 10 24 1.53 figl 1]
B-U06-1 70 14 8 13 1.43 fig2 K -W06 68 50 B 4 i
B-U08 84 16 12 18 272 fig2 K-Wo08 81 55 54 44.45 4 15 34 435 11 17 18
B-U10 100 18 15 24 47 fig2 K-W10 100 70 64 57 4 19 445 525 17 25 40
B U12 120 20 17 24 7.64 fig2 K-W12 110 70 64 57 4 19 44.5 52.5 17 25 —
B-U15 150 20 17 24 9.75 fig2 K-W15 140 80 74 66.7 4 24 54 58.5 21 32 —
K-WwW21 170 80 74 66.7 4 24 54 58.5 21 32 —

KEERBO'



RS

“H-U £ rEiR

T-NUTS

STANDARD HARDENED JAW

5 = H1 H2
, 48, U6 U-8 U-6
- =
T i E P ' H5 __ H6 i
- ! ) L J i | i | i ‘ _‘JI n || || ||
= o o T P an T T nlon mlon l =
H%H e L+d = H\IuJ srre Ld Wl vl | )
Al . dobd AL Ll Akl Cad
— I et ] (NN 45 l
U1 Hik o ik P 1 |
H10
. 1(Fig. 1) K. 2(Fig. 2)
DIMENSIONS U-10 - 0
. P
HU-05 53 23 28 10.0 4 29 14 24 10 M8 x 1.25P 1.5x60° 0.4 fig2 \ /
HU-06 67 31 3 120 5 39 20 28 12 MI0x15P  1.5x60° 0.95 fig2
HU-08 87 35" 51 14.0 5 30 25 18 12 M12x 1.75P 1.5x60° 1.9 fig1
HU-10 101 40 54 16.0 5 46 30 18 13 M12x1.75P 1.5x60° 2.8 fig1
HU-12 108 50 67 210 4 49 30 20 16 Mi6x2P  15x60° 35 figt RERIHS
HU-12-1 108 50 67 18.0 5 49 30 20 16 M16x 2P 1.5x60" 37 fig1 7 125 M8 5 10 E1(Fig1) KN-04,LN-04
HU-15 143 62 8 220 8 55 43 38 20 M20x25P  15x60° 96 figt 6 95 M8 5 10 MEIFigl  BN-205BT-205BH-205
HU-15-1 143 62 8 255 5 55 43 38 20 M20x25P  15x60° 95 fig1 6 110 M8 5 10 Ei(Figl) KN-05
82 11.0 M10 5 11 E1(Fig)  BN-206,BT-206,BH-206
75 150 M10 5 11  [E1(Figl) BN-06KN-06KT-06LN-06,LT-06

105 120 M12 12 14 E1(Fig1) BN-208,BT-208,BH-208
125 165 M12 8 14 E1(Fig1) KN-08,KT-08,LN-08,LT-08
1 130 Mi2 11 14 E1(Fig1) BN-210,BT-210,BH-210
11 16.0 M12 8 14 E1(Fig1) BN-10,KN-10,KT-10,LN-10,LT-10

115 163 Mi6 13 — [E1(Figl)  BN-212BT-212BH-212
120 200 Mi4 12—  E2(Fig2) KN-12,KT-12

17 215 M20 11— [@E2(Fig2)  BN-215BT-215BH-215,
17 215 M20 11— [@E2(Fig2) KN-15KN-18,KT-15KT-18
20 260 M20 16 — [E2(Fig2) KN-21KN-24KT-21KT-24

KEERBO'



